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�� x ∈ X
T ← φ
t← 0
x∗ ← x
�����	

�������� ������
��

� N(x)
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�� �������� �� N(x)= N(x) = {x′

1, . . . , x
′
n} (��� f(x′

1) > · · · > f(x′
n)
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k /∈ T 
� f(x′

k) > f(x∗)
x← x′

k

T ← T ∪ {x′
k}

x∗ ← max(x∗, x)
t← t + 1
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True �� ∃i ∈ {2, . . . , n} : σ1 ∈ Ti �� σi ∈ T1,
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Mating def=

⎧⎪⎨
⎪⎩

V alid �� (Tabu(c1, . . . , cn) = False)
�� (Aspiration(c′1, . . . , c′s) = True),

Invalid ���������.
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m ����������� �� �
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�	 �� =��� E�5�
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�

l genes

m chromosomesU (3) =

���� ��
� � � %
���� ����
�� �
������
�  @�A ���������� ��� ��� �* ��� @�A ���������� ��� ��� 6"

��)�	�	�� �*� +�	
�	��� ����
,*

�� ��� 	 ���������� c� ��� 	��
���
 ����� �� c 	�� ��� ��#����� 
���� 
������ ���

���������� c 	�� ��� �����	� �������� c∗�
�� 2�� D(c) 
� ��� ��� �� �������� 
���� �� c 	�� |D(c)| 
� ��� �	����	���$ �� D(c)� -�

�	��

|D(c)| = H (c, c∗) ,

����� H : {0, 1}l × {0, 1}l → {0, 1, . . . , l} �� ��� �	����
 ����	��� ���������

��)�	�	�� �*
 +k3��
	�	��8 k3	��9���	��8 ��� k3�����	��,* '���� k ∈ N� �� ��	��

���$ 	 ���������� c 	�

c ��

⎧⎨
⎩

k��������� �� |D(c)| < k,
k����#������ �� |D(c)| = k,
k���
	���� �� |D(c)| > k.

��)�	�	�� �*� +k3����� ��	���� �������	��,* � k���	�� ������� ����
�
���� ���
����� 	� U(k)� �� ������ 
$

U(k)
def=
{
c | c ∈ {0, 1}l and |D(c)| = k

}
.

��� ���	'��� *���� �� k������ (��)��� ��%�	�����
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�:�� 
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� )���
�� �
������
� +
���

��)�	�	�� �*�* 2�� c′ 
� ��� �#�����
 ���������� 
$ 	 ��������� X ���� n �	�����

�������� ���� U(k)� ��� �$�
��� p+� p=� 	�� p− 	�� ������ 
$ ��� ���
	
����$ ��	� c′ ��
k���������� k����#������� 	�� k���
	����� �����������$� ��� � 	����� ��� ���
	
����$ p+ ��

������ 
$

p+(X , n, U(k))
def= Pr{c′ �� k��������� | c′ = X (c1, . . . , cn | ci ∈ U(k))}
= Pr{|D(X (c1, . . . , cn))| < k | ci ∈ U(k)}

5��	�% ��6� �� �������� ���������� 
�� �������� �� �����
� ��� �� ��?����� �� 
��
�������
�
� p+� p=� ��	 p−�

��)�	�	�� �*: +����������� �� ���

����,* ��� �������	��� F �� ��������� X
���� n �	����� �������� ���� U(k) �� ������ 
$

F(X , n, U(k))
def= ( p+(X , n, U(k)),

p=(X , n, U(k)),
p−(X , n, U(k)) ).

��� ������
����� �� �������	��� �� ������� ������ 
$

F(X , µ, U(k)) = F(X , ν, U(k))

⇐⇒ (p+
µ = p+

ν

)
and

(
p=

µ = p=
ν

)
and

(
p−µ = p−ν

)
, 8E�C9

����� p+
µ ������� p+(X , µ, U(k))� 	�� �� �������

Q�-
� �� �����
���
� 
�� ����������� �� �������� ��������� �� ��
��
�
��� 
�� �-���
�	
������ �� 	��
���
 ����� �� 
�� �0������� &� 
��� ��	� �� ���	 
�� �������
�
� p 
��


�� 	��
���
 ���� ������ �
 � �����
�
 
����� ����	 �� 
��� �������
�
� p� �� ��� 	�����

�� �������
�
� 
��
 
���� �-��
 x �� n ����� �����
� ���������� 
�� 	��
���
 ���� �

���� 
����� �� 
�� ��

����� ���
���� �� ��

 ���� ��� �� 
�����	� ������
����� LIFM�
&�� �������
�
� ���� ����
��� 8�����9 B(x;n, p) �� �������
 	��
����
��� B(n, p) ��

B(x;n, p) =
(

n

x

)
px(1 − p)n−x, 8E�59

����� n, x ∈ Z∗� �
 ��
	� ��� 
�� �-���
�
��� �� � �������
 ���	�� ������
� X 
��


E [X] =
n∑

x=0

x · B (x;n, p) = np. 8E�E9

1 :��� (� 
��9 ������� ��� �B��&������ 
� ����
������� :
(�&��* ��� �
�������
� ���(���  p+* p=*p−"
��� ��� ����
������ 
� +���� �� �� ����� (
���9 
� ������ ����9�

2 �� ����* ��9 �(
 �
�����
�� ��  ���" ��C�� ��� �B��&������ 
� ����
������ ����� p+ + p= + p− = 1�



��� ����9��� 4���� 
� k%
���� )���
�� �
������
� �.

-���� �*;* '���� 	 ���������� c �������� ���� U(k)� ��� ���
	
����$ ��	� 	 
��� ci

���� i ∈ {1, . . . , l} �� 	 �������� 
��� �� p = k
l �

/����� &�� 	�.��
��� �� k���	�� ������� ����
�
��� 
�

� 
��
 ���� ���������� �� 
���
����
�
��� ��� �-��
 k 	��
���
 ������ &��������� ��� � ���������� ��
��
�	 ���� U(k)


�� �������
�
� 
��
 ci �� � 	��
���
 ���� ��

p = Pr {ci �� � 	��
���
 ����} =
k

l
.

	

-���� �*<* '���� n �	����� �	�����$ �������� ���� U(k)� ��� ���
	
����$ ��	� x �� n
�	����� ���� ��� �������� 
��� 	� ����� i ∈ {1, . . . , l} �� B(x;n, p)�

/����� 1����	��� 
� %���� E�I� 
�� �������
�
� ��� � ���������� ��
��
�	 ���� U(k)


� ������� 
�� 	��
���
 ���� �
 
���� i �� p = k
l � "���� 
�� ���	�� ��
��
��� �� � ������

�

�������� 
�� ������ �� ��
��
�	 ����������� ������ 
�� 	��
���
 ���� �
 
���� i ��
	�
� �������
 	��
����
��� B(n, p)� ����� 
�� �������
�
� 
��
 x �� n ����������� �������
	��
���
 ����� �
 ���� 
���� �� B(x;n, p)� 	


�*�*� �����
	
 �� �3(���

�� 
�� �����
��� �� ,�"���� �0������ ������
 � ���� ���	��
� ���� ��� �� 
�� �����
�
��� ���� 
����� &��� ���	�� ������ ���
��� 
�� �������
�
� �� ����
 ��� ���� �����


� ���� �
� ������ 1		�
����

�� %���� E�D �����	 
�� �������
�
� 
��
 x �� n �����
�
������� 
�� 	��
���
 ���� �
 ���� 
����� 1����	��� 
� 
���� ������
���� �� ��� 	�����

�� �������
�
� 
��
 �� �0������ 
���� �� �������	 ��
� 
�� 	��
���
 ����� =��
��������

�� �-���
�	 ������ �� 	��
���
 ����� �� 
�� �0������ ��� �� 	�����	�

-���� �*=* '���� n �	����� �������� ���� U(k)� ��� ���
	
����$ pu ��� )�*�	� Xu ��

$���� 	 �������� 
��� ��� 	 ����� ��

pu =
k

l
.

/����� %�
 c′ �� 
�� �0������ �����	���	 �� Xu� 1����� x �� n ��
��
�	 �����
� �������

�� 	��
���
 ���� �
 
���� i ∈ {1, . . . , l}� "���� ,�"��� ������� 
�� �����
 
� ���� �����
���	��
�� 
�� �������
�
� ��� ���� �����
 
� �� ������ �� 1/n� &��� ����� 
�� �������
�
�
��� 
�� �0������ 
� ������
 
�� 	��
���
 ����

Pr
{
c′i �� � 	��
���
 ���� | x

}
=

x

n
.

,���� 
�� ������ �� x �� %���� E�D ��	 8E�E9� �� ���� 
�� �������
�
�

pu =
n∑

x=0

Pr
{
c′i �� � 	��
���
 ���� | x

} · Pr(x)

=
n∑

x=0

(x

n

)
· B (x;n, p) =

1
n
· np = p =

k

l
.
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! ����� �*�> +����������� �� �3(���,* )���
 %������ ������� �����	���� U(k)�

��� ���
�� �� �	����� �	� �� �#��� �� ��� �������	��� �� )�*�	�� ��	� ���

F(Xu, n, U(k)) = F(Xu, n′, U(k)) for n, n′ ∈ N>1.

/����� %�
 c′ �� 
�� �0������ �����	���	 �� Xu ��	 |D(c′)| �� 
�� ������ �� 	��
���

����� �� c′� %���� E�F ����� 
�� �������
�
� pu 
��
 ,�"��� ������� 
�� 	��
���
 ���� 
�
�� �0������ 
����� �� �		�
���� �������� ��������� ��������� ���� ���� �� �� �0������
��	����	��

�� &��������� ���������� l ����� �� 
��� ���� ,�"��� ��� 
�� �������
�
�

��
 δ 	��
���
 ����� ����� �� 
�� �0������ c′;

Pr
{∣∣D(c′)

∣∣ = δ
}

=
(

l

δ

)
(pu)

δ (1 − pu)
l−δ = B (δ; l, pu) . 8E�G9

&��� ����� 
�� �������
�
� p+� p=� ��	 p− �� ,�"��� Xu� ������
���
�;

p+(Xu, n, U(k)) = Pr
{∣∣D(c′)

∣∣ < k
}

=
k−1∑
δ=0

B (δ; l, pu) 8E�79

p=(Xu, n, U(k)) = Pr
{∣∣D(c′)

∣∣ = k
}

= B (k; l, pu) 8E�H9

p−(Xu, n, U(k)) = Pr
{∣∣D(c′)

∣∣ > k
}

=
l∑

δ=k+1

B (δ; l, pu) 8E�I9

$
���
�� 
�� ����� �������
�
��� ��� ��	����	��
 �� 
�� ��
�� n �� pu �� ��	����	��
 ��
n� &��� ���
��� 
��
 ��� n, n′ ∈ N>1

F(Xu, n, U(k)) = F(Xu, n′, U(k)).

	

=����� E�E �
�
� 
�� ����������� (p+, p=, p−) �� ,�"��� �� k���	�� ������� ����
�
���
�� 8E�79P8E�I9� ���� ����������� ��� ������	 
� �� ����	�	 �� 100���
 �
����� ��	

�� ��	�� k ������ ���� 1 
� l − 1� =����� E�E ��
� ����� 2������
 ,�"��� �������
&������ E�C6 ��� �����	 
��
 
�� ����������� �� ,�"��� �� ��	����	��
 �� 
�� ������
n� &��� .���� ��	���
�� 
��
 
�� �������
�
��� ��� ,�"��� 
� �����	��� k�����
��� ��	
k�����
��� �0������ ��� �����	 0.44A �� �		�
���� ��
� ���.
�� ��� ����
� �� 
���� ��

�� ��	�� k� &��� ���������� ���
��� ,�"��� ��	 �
� 	�������
�	 �������� ���� �������
���������� ��� ������� �
��
� �� 
�� ������ �� ���
�
����

��������� �*��* 2�� eu 
� ��� � ������ ���
�� �� �������� 
���� �� ��� �#�����
 ������

����� 
$ n��	���� )�*�	� Xu� *�
&��� �� ������� �����	���� U(k)� ��� � ����	���� eu

�� �7�	� �� ��� ����� k� ��
	������ �� ��� 	������ ���
�� �� �	����� n� /�������$� ���

� ����	���� ��

eu(n,U(k)) = k for n ∈ N>1
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/����� %�
 c′ �� 
�� �0������ �����	��� �� Xu� D(c′) �� 
�� ��
 �� 	��
���
 ����� �� c′�
��	 |D(c′)| �� 
�� ���	���
�
� ��D(c′)� =��� 8E�E9 ��	 8E�G9� 
�� �-���
�
��� eu(n,U(k))
��� �� 	�����	;

eu(n,U(k)) = E
[∣∣D(c′)

∣∣] =
l∑

δ=0

δ · Pr
{∣∣D(c′)

∣∣ = δ
}

=
l∑

δ=0

δ · B (δ; l, pu) = l · pu = k.
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-���� �*�
* '���� n �	����� �������� ���� U(k)� ��� ���
	
����$ pob ��� +,�*�	� Xob

�� 	���
� ��� �������� 
��� �� 	� �#�����
 ����� ��

pob =

⎧⎨
⎩
∑n

x= n
2
+1 B (x;n, p) + 1

2B
(

n
2 ;n, p

)
�� n �� ����,∑n

x=�n
2 � B (x;n, p) ���������.

8E�D9

/����� 1����� x �� n �����
� ��
	 
�� 	��
���
 ���� �
 
���� i ∈ {1, . . . , l}� "���� (��
"��� ����� 
�� ��>���
� �� �����
�
 ����� �� 
�� �0������ ����� 
�� �������
�
� ���
(��"��� 
� ������ 
�� 	��
���
 ���� 
� 
�� �0������ c′i ��

Pr
{
c′i �� � 	��
���
 ���� | x

}
=

⎧⎪⎨
⎪⎩

1 �� x > n
2 ,

0.5 �� x = n
2 ,

0 �� x < n
2 .

=��� %���� E�I ��	 %���� E�D �� ���� 
�� ������ �� 
�� ������
� x �� B (x;n, p)
��
� p = k

l � &�� �������
�
� pob ��� n ∈ 2N ��� 
��� �� 	�����	;

pob =
n∑

x=0

Pr
{
c′i �� � 	��
���
 ���� | x

} · Pr(x)

=
n∑

x= n
2
+1

1 · B (x;n, p) +
1
2
· B
(n

2
;n, p

)
+

n
2
−1∑

x=0

0 · B (x;n, p)

=
n∑

x= n
2
+1

B (x;n, p) +
1
2
B
(n

2
;n, p

)
.

&�� �������
�
� pob ��� n ∈ 2N + 1 ��� �� 	�����	 ���
�����
�� 	
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��� �������	��� �� +,�*�	� Xob �� �	��
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l∑
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B(i; l, pob)

)
,
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��
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���
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�� �0������ c′;

Pr
{∣∣D(c′)

∣∣ = δ
}

=
(

l

δ

)
(pob)δ (1 − pob)

l−δ = B (δ; l, pob) . 8E�F9
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���
�;

p+(Xob, n, U(k)) = Pr
{∣∣D(c′)

∣∣ < k
}

=
k−1∑
δ=0

B (δ; l, pob)

p=(Xob, n, U(k)) = Pr
{∣∣D(c′)

∣∣ = k
}

= B (k; l, pob)

p−(Xob, n, U(k)) = Pr
{∣∣D(c′)

∣∣ > k
}

=
l∑

δ=k+1

B (δ; l, pob)

����� 
�� ����������� �� (��"��� �� ����� ��

F(Xob, n, U(k)) = (p+, p=, p−) =

(
k−1∑
i=0

B(i; l, pob), B(k; l, pob),
l∑

i=k+1

B(i; l, pob)

)
.
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�	��� �� (2a)��	���� +,�*�	� �� �7���	���� �� ��	� �� (2a−1)��	���� +,�*�	� ����

a ∈ N>1�

F (Xob, 2a,U(k)

)
= F (Xob, 2a−1, U(k)

)
.

/����� &������ E�CE ����� 
�� ����������� �� (��"��� 	����	� ���� 
�� �������
�
�
pob� 1����	��� 
� 8E�D9� 
�� �������
�
��� pob ��� n = 2a ��	 n = 2a−1 ��� ������
���
�

pob.odd = 1 −
a−1∑
x=0

B (x; 2a − 1, p) 8E�C69

pob.even = 1 −
a−1∑
x=0

B (x; 2a, p) − 1
2
B (a; 2a, p) .

"����
B (x;n, p) = p · B (x − 1;n − 1, p) + (1 − p) · B (x;n − 1, p) ,

�� ����

pob.even = 1 −
a−1∑
x=0

[p·B (x − 1; 2a − 1, p) + (1 − p)·B (x; 2a − 1, p)] − 1
2
B (a; 2a, p)

= 1 −
a−1∑
x=0

B (x; 2a − 1, p)

− p

a−1∑
x=0

[B (x − 1; 2a − 1, p) − B (x; 2a − 1, p)] − 1
2
B (a; 2a, p) .
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2
B (a; 2a, p)

= pob.odd + p
(2a − 1)!
(a − 1)!a!
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a!a!

pa (1 − p)a
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(2a)!
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− 1
2
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]
pa (1 − p)a

= pob.odd.
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eob(n,U(k)) = l · pob. 8E�CC9
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�� ��
 �� 	��
���
 ����� �� c′�
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�� ���	���
�
� �� D(c′)� =��� 8E�E9 ��	 8E�F9 �� ���� 
�� �-���
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���

eob(n,U(k)) = E
[∣∣D(c′)

∣∣] =
l∑

δ=0

δ · Pr
{∣∣D(c′)

∣∣ = δ
}

=
l∑

δ=0

δ · B (δ; l, pob)

= l · pob.
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i
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����������� ������� 	����� α 	� ����� k� ��� 
��� ���7����$ �� ������ 
$

pk(α, t) def=
|Ck(α)|
|C| ,

����� |C|	�� |Ck(α)| ��������� ��� �	����	���$ �� ��� C 	�� Ck(α)�

�� 
��� 
������ ����������� �� '1� ��� ��������
�	 �� ������ �
������ &��� 
���� �-��


�� ���� ����������� pk(1, t) ��	 pk(0, t) ��
� pk(0, t) = 1− pk(1, t) ��� 
���� k �
 
���
t� =�� ����
���
�� �� ����� 
� 
�� ���� ��������� pk(1, t) �� pk(t) ��	 ����� 
� pk(0, t) ��
(1 − pk(t))� ����	��
�

�� 
�� �����
 pk(t) �� �������	 
� �� pk �������� 
�� ��	���
���
�� 
��� t �� ����
����
�

5��	�% :��� �� '1�� �� ����

pk
def= E[ck] =

1
m

∑
c∈C

ck, 8G�C9

σ2
k

def= Var(ck) = pk(1 − pk), 8G�59

����� E[·] 	���
�� 
�� �-���
�
��� ��	 Var(·) 	���
�� 
�� ���������
��)�	�	�� �*� +7��	��	�� �� ���� #��@����� 	� ��
,* 2�� ps

k(t)� px
k(t)� pm

k (t) 
�

��� 
��� ���7������� 	���� ���������
 ���������� ���������� 	�� ���	���� 	� 
����	����

t� ��� ������� �� '�� ���� ������� �� 
��� ���7����$ �	� 
� � ������� 	�

pk(t)
selection−−−−−→ ps

k(t)
crossover−−−−−→ px

k(t) mutation−−−−−→ pm
k (t) survivor−−−−−→ pk(t + 1). 8G�E9

&�� �����
��� �� ���� ��������� �����	 �� ,�"���� (��"���� ��	 ��
�?�� ��
�
��� ��


�� ���
�:�	 �� 
�� ���������
 ���
����� &�� �0��
 �� 
�� �������� �
��
��� �� 
�� ����
��������� ��

 �� �-�����	 �� "��
��� G�E ��	 "��
��� G�G�E� &�� ��
��
���� �������� ��
�������
�	 ��
� 
�� .
���� �� ����������� ���
� 
�� .
���� 	����	� ���� 
�� �����
����
��� &��� ���
��� 
��
 
�� ��?����� �� ��
��
��� �� 
�� ���� ��������� �� ����
���
	����	��
� !� ��

 �����
���
� 
��� ��?����� �� 
�� (�� �- ����
�� �� "��
��� G�G ��	
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�� ��?����� �� 
�� '�����
�:�	 (�� �- ����
�� �� "��
��� G�7� ������ 
��
� �� ����
�
������ 
�� ��
��
��� �� � ���	�� ��
��
���A 
��
 ��� 
�� ���� ��������� ps

k(t) = pk(t)�
�� 
�� ���
���� �� ��

 ���� ��� �� 
�� ��

������ �������
��
�� 	��
����
���� LIFM�

=���
� 
�� �������
�
� ���� ����
��� 8�����9 B(x;n, p) �� 
�����	� ������
����� B(n, p)
��

B(x;n, p) =
(

n

x

)
px(1 − p)n−x,

����� n, x ∈ Z∗ ��	 ��	 0 ≤ p ≤ 1� "����	� 
�� ������ H(x;n, r,m) �� �$���
��������

������
����� H(n, r,m) ��� x, n, r,m ∈ Z∗ ��

H(x;n, r,m) =

(r
x

)(m−r
n−x

)
(m

n

) .

�*�*� 7��	��	�� ���
�� 6� �3(���

"��
��� C�5 ��� ��
��	���	 ��� ,�"��� ��	 (��"��� �����
�� ���� �� ���
�:� 
�� ����
��������� �0��
�	 �� ,�"���� �� 
�� ��-
 ���
��� �� ��

 ���
��� �����
���
� 
�� ����
��������� �0��
�	 �� (��"���� "���� ��
� ,�"��� ��	 (��"��� ��� ��

�������
 ����
���
�:�
���� �� ������� ���������� 
�� ���
���� ��	 ����

� ������
�	 ���� ��� ���
����
�

� ������� ��������� �� ��

�

-���� �*�* *������ �� �	�� ��� 
��� ���7����$ ps
k �� ��� �������� �	������ ��� ���


��� ���7����$� ������� 
$ pu
k� �� ��� �#�����
 ���������� 
$ n��	���� )�*�	� Xu ����

n ∈ N>1� �� �	��

pu
k = ps

k.

/����� %�
 X �� 
�� ������ �� �����
� ���������� 
�� �

�
� C �
 
���� k ����� n
��
��
�	 �����
�� "���� 
�� ������� �� ��
��
��� �� ��	����	��
� ���� 
�� ith ��
��
��� �-�
�������� �� ��?����� �� 
�� jth ��
��
���� 
�� ������� �� � ������

� �������� ����������

��� ��
��
��� n 
����� 
�� ������ X ��

 ��
	 � �������
 	��
����
��� ��
� ������

Pr(X = x) = B(x;n, ps
k) =

(
n

x

)
(ps

k)
x (1 − ps

k)
n−x .

%�
 D1 	���
� 
�� ����
 
��
 ,�"��� ������� 
�� �

�
� 1 
� 
�� �0������ 
���� k� "����
,�"��� ������� 
�� 	���� ���	��
�� 
�� ������ x ��
 �� n �����
� ���������� 
�� �

�
�
1 ���
	�

Pr(D1 | X = x) =
x

n
.

����� 
�� ���� ���������

pu
k = Pr(D1) =

n∑
x=0

Pr(D1 | X = x) · Pr(X = x)

=
n∑

x=0

(x

n

)
B(x;n, ps

k),



,# # ����9��� )���� +��8
& 	���� '��
�9

"���� 
�� �-���
�
��� �� �������
 	��
����
���
∑

x xB(x;n, p) = np� 
�� ����� ����
���
�������

pu
k =

1
n

(nps
k) = ps

k.

	

��������� �*"* ��� ���
�� �� �	����� �� )�*�	� �	� �� ��;����� ���� ��� 
��� ����

7����$�

&�� ����� ����

��� ��� �� ����
� �����	 �� %���� G�G; ,�"��� ���
	� 
�� ���� ����
��������� pu

k ��
� 
�� ����� ps
k� �� ��

�� ��� ���� �����
� ��� �	��
�	� &��
 �� 
�

���� �� 
���� �� ���� ���������� n������
 ,�"��� �������� �	��
���

� ��
� �
� 2������

	�������
���� ��: ������� ���������� �� "��
��� G�G� �� ��

 ���� 
��
 
��� ���0��
�������
���
	� �	��
���
 ���� .
���� �
 ��� 
��� t ��	 �	��
���
 ���� ����������� 
��� ���
	�0����
 ������� �� �����
� �	��
�	 �� ,�"����

�*�*
 7��	��	�� ���
�� 6� 4�3(���

������ ���	��
��� 
�� ���
���� �� (��"���� �� ��
��	��� 
�� ������
�
� ��
� ����
���
��� ����
������ 
�� �-�������� �� ����
�����

��)�	�	�� �*: +���������� ���� #����	��,* ��� ������
�
� ��
� ����
��� �� ���

���� 	�

Ix(a, b) def=
1

Beta(a, b)

∫ x

0
ta−1(1 − t)b−1dt,

����� a, b > 0 	�� Beta(a, b) �� ��� ��
� ����
����

&�� ��

����� ������
��� ��
	 ��� 
�� ������
�
� ��
� ����
���;

C� 85H�7�5G LCM9 =�� 
�� �������
 	��
����
��� B(n, p)�

n∑
i=a

B(i;n, p) = Ip(a, n − a + 1). 8G�G9

5� 85H�7�CH LCM9

Ix(a, b) =
1

a · Beta(a, b)
xa(1 − x)b + Ix(a + 1, b). 8G�79

Q�� �� ������ �� 
�� ���
���� �� (��"���J� �����
 �� 
�� ���� ����������

-���� �*;* *������ �� �	�� ��� 
��� ���7����$ ps
k �� ��� �������� �	������ ��� ���


��� ���7����$� ������� 
$ pob
k � �� ��� �#�����
 ���������� 
$ n��	���� +,�*�	� Xob

���� n ∈ N>1� �� �	��

pob
k = Ips

k
(a, a),

����� Ip ������� ��� ���������� 
��	 �������� 	�� a =
⌈

n
2

⌉
�
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/����� %�
 X �� 
�� ������ �� �����
� ���������� 
�� �

�
� C �
 
���� k ����� n
��
��
�	 �����
�� "���� 
�� ������� �� ��
��
��� �� ��	����	��
� �
 �� � ������

� ��������
���������� 
��� ��
��
��� n 
����� 
�� ������ X ��
	� � �������
 	��
����
��� ��
�
������

Pr(X = x) = B(x;n, ps
k) =

(
n

x

)
(ps

k)
x (1 − ps

k)
n−x .

%�
 D1 	���
� 
�� ����
 
��
 (��"��� ������� 
�� �

�
� 1 
� 
�� �0������ 
���� k�
1����	��� 
� +�.��
��� C�7� (��"��� ���
	�

Pr(D1 | X = x) =

⎧⎪⎨
⎪⎩

1 �� x > n/2,
0 �� x < n/2,
1
2 �� x = n/2.

=�� (��"��� ��
� �� �		 ������ �� �����
� n = 2a−1 ��� a ∈ N>1 8������; a =
⌈

n
2

⌉
9�

pob
k = Pr(D1) =

n∑
x=0

Pr(D1 | X = x) · Pr(X = x)

=
2a−1∑
x=a

B(x; 2a − 1, ps
k)

= Ips
k
(a, a) 8���� 8G�G99

"���
��
�� ��� (��"��� ��
� �� ���� ������ �� �����
� n = 2a ��� a ∈ N 8������;
a =

⌈
n
2

⌉
9�

pob
k =

n∑
x=0

Pr(D1 | X = x) · Pr(X = x)

=
2a∑

x=a+1

B(x; 2a, ps
k) +

1
2
B(a; 2a, ps

k)

= Ips
k
(a + 1, a) +

1
2

(
2a
a

)
(ps

k)
a (1 − ps

k)
a

= Ips
k
(a, a) − 1

aBeta(a, a)
(ps

k)
a (1 − ps

k)
a

+
1
2

(
2a
a

)
(ps

k)
a (1 − ps

k)
a 8���� 8G�799

= Ips
k
(a, a) +

[
− Γ(2a)

aΓ(a)Γ(a)
+

1
2

(2a)!
a!a!

]
(ps

k)
a (1 − ps

k)
a

= Ips
k
(a, a) +

[
− a

2a
(2a)!
a!a!

+
1
2

(2a)!
a!a!

]
(ps

k)
a (1 − ps

k)
a

= Ips
k
(a, a).
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$�������� 
�� ���� ����������� �������
�	 ��
� ,�"��� ��	 (��"��� �� %���� G�G
��	 %���� G�I� �� ��
��� 
�� �����
�
��� ��
���� pu

k ��	 pob
k �� ��

����

��������� �*<* 2�� p
ob(n)
k 	�� p

u(n)
k 
� ��� 
��� ���7������� ������������
 �� n��	����

+,�*�	� 	�� n��	���� )�*�	�� �����������$� ��� 	�$ n ∈ N>1, �� �	��

p
u(n)
k = p

ob(2)
k = ps

k.

&��� ����

��� ��	���
�� 
��
 ,�"��� ��
� 	�$ ������ �� �����
� ���������	� 
� (��
"��� ��
� � �����
� �� 
�� ���� ���������� ������ ,�"��� ��� �� �����	 �� � ������

���� �� (��"��� ��
� n = 2� 1����	��� 
� 
��� �����
�
���� �� 
�� ���������
 ���
����
�� ��

 ��
� 	������ (��"���� "��� ���� ������
��� �� (��"��� �� 
�� ���� ���������
��� ������
�	 ��
���

��������� �*= +��	�?	
� $@�	�������,* 2�� p
ob(n)
k 
� ��� 
��� ���7����$ pob

k ������

�������
 �� n��	���� +,�*�	�� ��� n ∈ 2N 	�� n ≥ 4� �� �	��

p
ob(n)
k = p

ob(n−1)
k .

/����� &�����
 8�����
⌈

n
2

⌉
=
⌈

n−1
2

⌉
��� n ∈ 2N �� %���� G�I9� 	


��������� �*�>* 2�� p
ob(n)
k 
� ��� 
��� ���7����$ pob

k ������������
 �� n��	���� +,�

*�	�� ��� n ∈ N>1� �� ����� ��� ��� 
��� ���7����$ p
ob(n+2)
k ��	�

p
ob(n+2)
k

⎧⎪⎨
⎪⎩

< p
ob(n)
k �� 0 < ps

k < 0.5,
> p

ob(n)
k �� 0.5 < ps

k < 1,

= p
ob(n)
k ����������

/����� B���� 
� 1����	�- +�C� 	

��������� �*��* ��� n ∈ N>2� �� ����� ��� ��� 
��� ���7����$ pob

k ��	�

pob
k

⎧⎪⎨
⎪⎩

< ps
k �� 0 < ps

k < 0.5,
> ps

k �� 0.5 < ps
k < 1,

= ps
k ���������.

/����� B���� 
� 1����	�- +�5� 	

=����� G�C �
�
� 
�� 	�0����
��
 �� ���� ��������� (pob

k − ps
k)� 1� ��	���
�	 �� $���
�


��� G�CC� 
�� 	�0����
��
 �� 	���	�	 �� 
�� ���� ��������� ps
k = 0.5 ��
� 
�� ���
�;

����
��� 	�0����
��
 ��� 0 < ps
k < 0.5 ��	 ����
��� 	�0����
��
 ��� 0.5 < ps

k < 1� �� �		��

���� ������� �����
� �� (��"��� ��
����.�� 
�� 
��	���� 
����	 �

�
� 0 �� 1� 	����	���
�� 
�� ����� ���� ��������� ps

k�
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&�� ��
����.��
��� ��	���	 �� (��"��� ��� �� ����.���
 �� �
 �

� ��� ��� ��
��

�����
� ��
� � ���������� �
���� ��� 
���� ������ 
�� ������� ������ (
�������� (��
"��� ��
� ���� 
��� 
�� �����
� ��� �� ������
� &��� 
�����	�	 �0��
 �����
� 
��
�����
���
� �� (��"��� 
� 
�� ��
��
���� ��	 
��� �����
���
� �� ���
��� �������
�	 �� 
��
�������� �� �����
�� �������� �
 �� 
��� 
���
� 
� ���� � ������
 ��
��
��� ��� ����� 
�����
�������

� �� 
�� ����
� ����
�
�� ����
��� L77M� &��������� � ���������� ���� ��
�
����

��
 ��� ����	� 
�� ���� �����	 �� (��"��� ��

 �� ��
�
 
� 
�� �����

 ������������

-0.2

-0.1

 0

 0.1

 0.2

 0  0.2  0.4  0.6  0.8  1

p kob
 -

 p
ks

pk
s

n=2
n=4
n=6
n=8

n=10

���� ���� '�� ��D�������� 
� ���� ���B����9 (pob
k −ps

k) ������� �9 ����
����� n%������ $4%3��� (���
ps

k

�*�*� 7��	��	�� ���
�� 6� �����	��

�� 
��� ����
��� 
�� ���
���� �� ��
�
��� ������� �� 
�� ���
 ����
�� ��
�
��� @ 
���

;�� ���	����� ��
�?�� ��
�
��� ���	��
� ������� � 
���� ��	 
��� ;��� 
�� ���� �


��� 
����� ���� 0 → 1 ��	 1 → 0� 1 ������
�� γm� ��

�	 ���	���� �	��� �� ��
��	���	

� 	�
������ 
�� �������
�
� ��� � ���� 
� �� ��
�
�	� &�� �����
��� �� ���� ���������
�����	 �� ��
�?�� ��
�
��� �� ����� �� 
�� ��

����� 
�����

-���� �*�
* *������ �� �	�� ��� 
��� ���7����$ px
k� '���� ��� ���	���� �	�� γm�

��� ��� 
��� ���7����$ �� ��� �#�����
 ���	��� 
$ 
���;�� ���	����� �� �	��

pm
k = px

k + γm(1 − 2px
k).

/����� $����	����� ��
�?�� ��
�
���� 
�� ����� 
� ���
	 
�� ���� 1 �
 
���� k ���; 0→1
8��
�
�	9 ��	 1→1 8��
 ��
�
�	9� %�
 ck �� 
�� ���� �
 
���� k ������ ��
�
��� ��	
c′k �� 
�� ���� ��
�� ��
�
���� &�� ���� ��������� ��
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pm
k = Pr{c′k = 1 | ck = 0}Pr{ck = 0} + Pr{c′k = 1 | ck = 1}Pr{ck = 1}

= γm(1 − px
k) + (1 − γm)px

k

= px
k + γm(1 − 2px

k).

	

=����� G�5 �
�
� 
�� 	�0����
��
 �� ���� ��������� (pm

k −px
k) ��	���	 �� ��
�?�� ��
�
����

$�������� =���� G�C ��	 G�5� �� 
���� 
��
 ��
�
��� �-��
� �� ��?����� ���
���� 
�
(��"��� �� 
�� ���� ���������; =�� 0 < px

k < 0.5� ��
�
��� ��� � ����
��� 	�0����
��
�
���� pm

k > px
k� (� 
�� �
��� ���	� ��� 0.5 < px

k < 1� ��
�
��� ����

� �� pm
k < px

k� "���
�
��������� ��
�
��� ��
��	� 
� ��

 
�� ���� ��������� ���� 
� 
�� 	���	��� ���������
0.5� =��
�������� 
�� ������ 
�� ��
�
��� ��
� γm� 
�� �
������ 
�� ����� �� ��

�����
&���� ������
����
��� ��
�� ���
 �� ���
����	 �� 
�� �������� ���
���;  �
�
��� �
���
�� �����
��
 ��
� �� ��
������ 
�� ��
����.�	 ���������� �� (��"���� �� 
�� ��

�����
���
���� �� ��

 ���
��� 	�����
��
� 
��� ����
 
�����
���

� ��	 ��������

��
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 -

 p
kx

pk
x
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γm=0.20

���� ��
� '�� ��D�������� 
� ���� ���B����9 (pm
k −px

k) ������� �9 ���%?�� ������
� (��� ������
� ����
γm

��� ����	��
 .��
 ���/�0 �
��� �
���'

 ����� ����� 
����� ��� ���� ���	 
� ��	�
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������ ��
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�
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�� �����
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�
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'���
�� �
����
��� ��� ������
� �����	 �� �
�����
�� ��������� �� �
�����
�� ��
���:��

��� �
����
���� 1 �
�����
�� ������� �� � ������ �� ���	�� ������
�� {X(t)} ���� 
��� t�
1����	��� 
� 
�� ��	�- ��
 
��� �� 
��� t� � �
�����
�� ������� {X(t)} �� ��
�����:�	 ��
� ��������������� �
�����
�� ������� �� t ∈ [0,∞)� �� � ������������� �
�����
�� �������
�� t ∈ Z∗� 1 
���� �
��� �� �
�����
�� ��������� ���� 
�� ������
� 
��
 
�� ���	��
��� ��
��
�� X(t+1) 	����	� ��
� ���� 
�� ������
 ��
�� X(t) ��	 �� ��	����	��
 �� 
�� ����

�����
 ��
��� {X(0),X(1), . . . ,X(t − 1)}� "��� ��������� ��� ��

�	 �	�%�� ���������A

�� ������
��� ������
� �� ����� �� 
�� �	�%�� �������$� ��  ����� ���������� 
��
������
� ��
��� �� {X(t)} ��� ��

�	 ��	���� ��	 
�� ��
 �� �

 ������
� �
�
�� �� ��

�	
��	�� ��	��� �� 
��� ���� �� ����� 
� � 	�����
��
���  ����� ������� �� � �	�%�� ��	��

�� 
�� �
�
� ����� �� .��
� �� ����
��
� ��.��
�� "��� ��

������ 	�.��
���� ����

 ����� ������ LC6� C5� H6M ��� ����� �� +�.��
��� G�CEPG�C7 ��
���

��)�	�	�� �*�� +������ � �	�
,* � �����	���� ������� {X(t) : t ∈ Z∗} ���� �����

��	�� ��	�� S �� �	�� �� 
� 	  ����� ����� �� ��� 	�� i0, i1, . . . , it−1, i, j ∈ S

Pr{X(t + 1) = j | X(t) = i,X(t − 1) = it−1, . . . ,X(0) = i0}
= Pr{X(t + 1) = j | X(t) = i}
def= ρij(t) .

��� |S|×|S| �7�	�� �	��� P(t) = (ρij(t)) �� �	���� ��� 
�����
��� ��
��- �� ��� �	�%��

��	�� {X(t)}� ��� ���
	
����$ ρij(t) �� �	���� ��� 
�����
��� �������
�
� �� ��	�� i �� ��	��

j 	� ���� t�

��)�	�	�� �*�� +A���������
 ������ � �	�
,* � �	�%�� ��	�� �� �	�� �� 
�

����������� �� ��� ��	������� ���
	
������� 	�� ����������� �� ����� ��	� ��� ��� 	��

t ∈ Z∗
ρij = Pr{X(t + 1) = j | X(t) = i}.

1  ����� ����� ������
� �� � ����
� �� ���	�� ������
��A 
�������� �
 ��� � �������
�
�
	��
����
��� �� �
�
�� ��� ���� ���	�� ������
�� �� 
���� ��  ����� ���������� 
���
�������
�
� 	��
����
��� �� ��

�	 ��	�� ������
������

��)�	�	�� �*�" +(���� �	
��	6��	��,*

�� (������ 
$ 	 ���
	
����$ ������ π(t) = (π0(t), . . . , πN (t))� ��� �
�
� 	��
����
��� �� 	

�	�%�� ��	�� {X(t)} ���� ��	�� ��	�� S = {0, . . . , N} ���������� ��� �����������	�

���
	
������� �� ��	���� /�������$� ��� t ∈ Z∗ 	�� i ∈ S

πi(t)
def= Pr{X(t) = i} 	��

∑
i∈S

πi(t) = 1.

�� ��� ������ π(0) �� �	���� ��� ���
��
 	��
����
��� �� {X(t)}�
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������ ��� 
�� �
�
� 	��
����
��� �� �����������  �����
�������

! ����� �*�: +B�
8 �*";C,* *������ �� �	�� 	 ����
������ �	�%�� ��	�� ���� ��	��

������ �	��� P� '���� ��� �����	� ������
����� π(0)� ��� ��	�� ������
����� 	� ���� t �	�


� �
�	���� 
$
π(t) = π(0)Pt, 8G�H9

����� Pt �� ��� tth ����� �� �	��� P�

�*
*
 ! � ����� ��� ���� #��@�����

�� 
�� 
���
 �� ���� ���������� � '1 ��� �� �����	 �� � �
�����
�� ������� ���
����
�
��� 
�� ������ �� �

�
� C 8�� 69 �� 
�� ����
�
���; %�
 ���	�� ������
��
Gk(t) ∈ {0, 1, . . . ,m} �� 
�� ������ �� �

�
� C �
 
���� k �
 ������
��� t� &�� �������
�� '1� �� 
�� ���� ��������� ��� �� ��������
�	 �� {Gk(t) : t ∈ Z∗}� "���� ��� �����
i0, i1, · · · , it+1 ∈ {0, 1, . . . ,m} 
�� ������� {Gk(t)} ��
��.��

Pr{Gk(t + 1) = it+1 | Gk(t) = it, Gk(t − 1) = it−1, . . . , Gk(0) = i0}
= Pr{Gk(t + 1) = it+1 | Gk(t) = it},


�� ������� {Gk(t)} �� �  ����� ������ 1 �����
 	�.��
��� �� 
��  ����� ����� ���
���� ��������� �� ����� �� ��

����

��)�	�	�� �*�; +������ ����� ��� ���� #��@�����,* 3� ��� �	�%�� ��	��
{Gk(t)} ��� ��� 
��� ���7����$ 	� ����� k ∈ {1, . . . , l} �� '���

�� ��� �
�
� �� ������ 	� ��� ���
�� �� 	����� 1 	� ����� k �� ��� �����	����< �����
$

��� ��	�� ��	�� �� {0, 1, . . . ,m}� � ��	�� i �� {Gk(t)} 
���� ��� 
��� ���7����$

pk =
i

m
.

�� ��� 
�����
��� ��
��- �� {Gk(t)} �� ������ 	�

P def=

⎛
⎜⎜⎜⎜⎝

ρ00 ρ01 · · · ρ0m

ρ10 ρ11 · · · ���
���

���
���

ρm0 · · · · · · ρmm

⎞
⎟⎟⎟⎟⎠ ,

����� ρij �� ��� 
�����
��� �������
�
� �� ��	�� i �� ��	�� j�

ρij
def= Pr{Gk(t + 1) = j | Gk(t) = i}.

�� 
�� ��

����� ���
���� �� ��

 �
�
�:� 
���  ����� ��	�
 ��� ���� ��������� 
� ������

���
� 
�� ����
�� 	���
 ��	 
�� ����������� ��  �'1��
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� ���� �

�
�� &�� ����� �� ����
�� 	���
 �� 
�� ����
�
��� ��
����
��� ������ LG6� 7EM� �� ����
�
��� ����
���� 
�� ��
� �� ����
�� 	���
 ������ �� ��
�����
��
 ��	�- �� ��� ���
 ����
�
��� 	������
� �� 
��
� B����

� 
��� ��
� �� ���
��	

� ���
���� �� '1� �� � ����
�
�
��� ������� �� 
�� 
����� ��
� �� ����
�
��� 	������
�
L7� C66M� Q�
� 
��
 
�� ���	�
���� 
� �-����� ����
�� 	���
 @ �� ��
��
��� �������� ��	
�� ��
�
��� @ ���
� 
�� ��

��� �� ���	�� ��
��
��� ��	 :��� ��
�
��� ��
� �� '1��
&�� �����	��� ��� ���
���� �� ����
�� 	���
 �� '1� �� �

��
��
�	 �� =��� G�E�

Population Parents

Offspring

Selection

Crossover

Mutation

Survivor

Evolution
(Single Locus)

Initialization

Termination

���� ���� ��
������ �
� ����9��� 
� ������� ����� �� ���

�� 
�� 
���
 ��  �'1�� "�������� LF6M �
�	��	 
�� ����
�� 	���
 ��  �'1� �����
,�"��� ��	 (��"���� ��� ���� �����
�	 
��
 ,�"��� ��� �� ��?����� �� ����
�� 	���

���
�
 (��"��� ��	���� ������ ����
�� 	���
� �� 
�� ������ �� �����
� �� ��������	�
Q����
��
���� "�������� ��
� �������	 
�� �������
�
��� �� 	���
 �� ��	 	���
 ��
A 
��
��
� �� ����
�� 	���
 ��  �'1� �� �
�

 �� ���� ����
����
�� 
��� ����
�� �� �����
���
� �� 
����� 
�� ����
�� 	���
 ��  �'1� ����� ,�"���

��	 (��"��� 
� ������ 
�� ��

����� ����
����;
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�� ����
�� 	���
 ��� � ����
� 
����� 
�� 
��� K�����������J ��������
�

�� ���������� �� �

�:���� �� �

����� ����
�
���� �� ������
� ���	�� ��
��
��� ��	 :���
��
�
��� ��
� ��� ������	 ��� ���
���� �� ����
�� 	���
� &�������� 
�� �����
��� �� ����
��������� �� '1�� ��������� 
� +�.��
��� G�E� 
���� ��
 
� ��;

pk(t)
crossover−−−−−→ px

k(t)
survivor−−−−−→ pk(t + 1). 8G�I9

=�

����� 
�� ����� ��������� ��	 
�� ���
�
���
 ����

� �� 
�� �������� ���
����
�� 	����� 
�� 
�����
��� �������
�
� �� 
��  ����� ����� ��� ���
���� �� ����
�� 	���
 ��
 �'1��

! ����� �*�<* ��� 	 '� ����
 �	���� ���������� n��	���� +,�*�	�� 	�� �� ���	�

����� ��� ��	������� ���
	
����$ ρij �� ��� �	�%�� ��	�� {Gk(t)} ������������
 �� ��	�

'� ��

'����	����	� '�� ρij = B(j;m, p′k)
*��	�$���	�� '�� ρij = p′k · H(j − 1;m − 1, i,m)

+ (1 − p′k) · H(j;m − 1, i,m)

����

p′k = I i
m

(⌈n
2

⌉
,
⌈n

2

⌉)
.

/����� B���

 
��
 
�� �
�
� i �� 
�����
��� �������
�
� ρij ����� 
�� ���� ��������� pk =
i
m � =��� %���� G�I �� ��� ��
��� 
�� ���� ��������� p′k �� 
�� �0������ �����	���	
�� � '1 ����� ���	�� ��
��
���� n������
 (��"���� ��	 �� ��
�
���� =�

����� 
��
�������� �� '1� 	�������	 �� 8G�I9� 
�� ���� ��������� ��

p′k = pob
k = I i

m

(⌈n

2

⌉
,
⌈n

2

⌉)
.

�� ������
����
 '1�� 
�� ����
�
��� �� ����
�
�
� ���
���	 ��
� 
�� �������
�
���
������
��� �� m �0������� ����� ��� �����	���	 �� m 
���� �� ��������������������

���	���� �������� "���� 
��� ������� �� ��	����	��
� 
�� ������ �� �

�
� C ��
	� �
�������
 	��
����
��� B(m, p′k)� ������ 
�� 
�����
��� �������
�
� ��

ρij = Pr{Gk(t + 1) = j | Gk(t) = i}
= B(j;m, p′k).

�� �
��	���
�
� '1�� 
�� �������
�
��� ������
� �� ��
� ��� �0������ ��	 ��

 ���
�
��� ��� ���������� ���	��
� ��
��
�	 ���� 
�� ����
�
��� �
 ���� ������
���� &��
�������
�
� 
��
 
�� �0������ ��
	� �

�
� 1 �
 
���� k �� ����
� p′k�  �������� ��
��
���
��� ���������� ��
 �� 
�� ����
�
��� ��� �� �����	 �� ����
��� (m−1) ������� ����

�� ����
�
��� ������� ����	������ LDEM� &��� 
�� ������ �� �

�
� 1 �� 
�� ���������
����
�
��� �
 
���� k ��
	� � ����������
��� 	��
����
��� H(m− 1, i,m)� 1����	���
�

�� 
�����
��� �������
�
� ��

ρij = p′k · H(j − 1;m − 1, i,m) + (1 − p′k) · H(j;m − 1, i,m)
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! ����� �*�=* ��� 	 '� ����
 �	���� ���������� n��	���� )�*�	�� 	�� �� ���	�����

��� ��	������� ���
	
����$ ρij �� ��� �	�%�� ��	�� {Gk(t)} ��

'����	����	�� ρij = B(j;m,
i

m
)

*��	�$���	��� ρij =
(

i

m

)
H(j − 1;m − 1, i,m)

+
(

1 − i

m

)
H(j;m − 1, i,m)

/����� %���� G�G 
�

� 
�� ���� ��������� p′k �� 
�� �0������ �����	���	 �� � '1
����� ���	�� ��
��
���� n������
 ,�"���� ��	 �� ��
�
��� ��

p′k = pu
k = pk.

&�� �
�
� i �� 
�����
��� �������
�
� ρij ����� 
�� ���� ��������� pk = i
m � B�������� 
�


�� ����� �� &������ G�CD� �� ���� 
�� 
�����
��� �������
�
� ��� ������
����
 '1�;

ρij = B(j;m, p′k) = B(j;m,
i

m
),

��	 ��� �
��	���
�
� '1�;

ρij = p′k · H(j − 1;m − 1, i,m) + (1 − p′k) · H(j;m − 1, i,m)

=
(

i

m

)
H(j − 1;m − 1, i,m) +

(
1 − i

m

)
H(j;m − 1, i,m).
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��� �������
�
� ��� ,�"��� �� ��	����	��
 �� 
�� ������ ��
�����
� n�

5��	�% :���� $�������� &������ G�CD ��	 &������ G�CF� �� 
���� 
��
 
�� ����

 ��
&������ G�CF �� � ������
 ���� �� (��"��� ��
� n = 2� &��� ����������� ���������	�

� $���

��� G�D� 1����� ����� 
��� ���������	���� �� n������
 ,�"��� ��
� 2������

(��"���� �� 
�� ��

����� 
�-
 �� ��
� 	������ (��"����

�����
	�	�� �*

* ��� �	�%�� ��	�� {Gk(t)} ��� ��� '� 
���� �� ������� :��> ��

����
�������

/����� 1  ����� ����� �� ���	 
� �� ����������� �� 
�� 
�����
��� �������
�
��� ������
����
��
 ���� 
���� &�� 
�����
��� �������
�
� ρij �� 
��  ����� ����� {Gk(t)}� ��
����� �� &������ G�CD� �� ��	����	��
 �� 
��� t� &��������� 
��  ����� ����� {Gk(t)}
�� ������������ 	

"���� 
��  ����� ����� {Gk(t)} ����� �� &������ G�CD �� ������������ �� ��� �
�
�:�
8G�H9 
� �����
� �
� �
�
� 	��
����
����
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�*�*� ����������� 	� �����	� ��	��

&������ G�CD ���� 
�� 
�����
��� ��
��- �� 
��  ����� ����� {Gk(t)} ��� 
�� '1 �����
���	�� ��
��
���� n������
 (��"���� �� ��
�
���� ��	 ������
����
 �� �
��	���
�
�
��������� (� ���
���
�� ��
����
 
� �� ��� �� �
 �

� 
�� ������
���� �� {Gk(t)} @ �
 
��


��� 
�� ����
�
��� 
���� ��
 
� �� �

�:���� �� �

������ �� ����� ��  ����� ��	�
��
������
����
 '1� ��
���
 ��
�
��� ���� ���� ����� 
� ��
	 ���� � ����������� L76M�
�� 
��� ���
��� �� ��

 ���� 
��
  �'1� ��
���
 ��
�
��� ���� 
��� �����������
������
� �� ��

� =�� 
���� �� ���	 
� ����� 
��
 
��  ����� ������ ���������	��� 
�

�� ��������
����	  �'1� ��
��� 
� � ������
 ���	 ��  ����� ������� ��

�	 	
���
��


 ����� ������� 1� ���
��	 �� 
�� ����� 
��� ���	 ��  ����� ������ ��

 ������ 
��
������� ��
� ���
��� �
�
��� =��� 
�� ������
��� �� ���������  ����� ������ �� ��


	����� 
�� ���� 
��� ��	 
�� �������
�
� �� ������������
=���
 �� �

� �� 	��� ���� ��

������ 	�.��
���� 8+�.��
���� G�5EPG�579 ��
�
�	 
�

���������  ����� ������ LC6� IFM�

��)�	�	�� �*
� +�6
��6	�� (����
,*

�� ��� �
���	 ��
 Sc �� 	 ��� �� ��	��� ����� ��	������� ���
	
�������

ρij = 0 ��� 	�� i ∈ Sc, j /∈ Sc.

�� � ��	�� i �� �	�� �� 
� ��������� �� 	�� ���$ ��

∃Sc : Sc = {i} ⇐⇒ ρii = 1.

�� � �	�%�� ��	�� ���� 	
���
��
 ��	��� �� �	���� 	� 	
���
��
 �	�%�� ��	���

��)�	�	�� �*
� +#	�
� ��

��� ���6�6	�	��,* 2�� f
(t)
ij 
� ��� ���
	
����$ ��	� ��	���

��
 ���� ��	�� i� ��� ������� ��� ��� ���� ���� ��	���� ��	�� j �� t ������ ��� 	 �	�%��

��	�� {X(t)}�

f
(t)
ij

def= Pr{X(t) = j,X(v) 
= j ��� 0 < v < t | X(0) = i}.

��� .��
 ������� �������
�
� fij �� ������ 	� ��� ���
	
����$ ��	� ��	����
 ���� ��	�� i�
��� ������� ���� ��	���� ��	�� j�

fij
def=

∞∑
t=1

f
(t)
ij .

��)�	�	�� �*
" +!���
	��� (����
,* � ��	�� i �� �	�� �� 
� ������
��
 !�� ��������
"
�� fii = 1� +�������� !fii < 1)� ��� ��	�� i �� �	�� �� 
� 
�������
 !�� ������������
"�

1����	��� 
� 
�� ����� 	�.��
����� �� ����� 
��
 
��  ����� ����� �������
�	 ��
�

�� ����
�� 	���
 ��  �'1� �� �� ���������  ����� ������



#�� '�� ������� <���� 
� +���� -,

�����
	�	�� �*
:* *������ �� �	�� 	 '� ����
 �	���� ���������� n��	���� +,�

*�	�� �� ���	����� 	�� ������ 
����	����	� �� ���	�$���	�� ��������� ��� �	�%�� ��	��

{Gk(t)} ������������
 �� ���� '� �� 	� 	
���
��
 �	�%�� ��	�� ���� � 	���$ ��� 	
�

���
��
 ��	���� 0 	�� m�

/����� 1����	��� 
� 
�� 	�.��
��� �� ������
����

{Gk(t)} �� ��������� ⇐⇒ ∃i : ρii = 1. 8G�D9

Q�-
� �� ����� 
�� ������
��� �� {Gk(t)} �� ������
����
 '1� ��	 �
��	���
�
� '1�
��	���	��

��

C� '�����
����
 '1�; =��� &������ G�CD �� ����

∃i : ρii = 1 ⇐⇒ ∃i : B(i;m, p′k) = 1.

&�� ��
�
���� �� B(i;m, p′k) = 1 ���>��
 
� p′k = I i
m

(⌈
n
2

⌉
,
⌈

n
2

⌉)
��	 n ∈ N>1 ���

8�9 i = 0 ��
� p′k = 0 ��	 8��9 i = m ��
� p′k = 1� &��� 
��	� 
�� ��� 
��  �����
����� {Gk(t)}�

ρ00 = ρmm = 1 =⇒ {Gk(t)} �� ��������� .

5� "
��	���
�
� '1�; &�� 
�����
��� �������
�
� �� &������ G�CD �����

ρii = p′k · H(i − 1;m − 1, i,m) + (1 − p′k) · H(i;m − 1, i,m)

= p′k ·
(

i
i−1

)(
m−i
m−i

)
(

m
m−1

) + (1 − p′k) ·
(
i
i

)(
m−i

m−1−i

)
(

m
m−1

)
= p′k ·

i

m
+ (1 − p′k) ·

m − i

m

= 1 − i

m
−
(

1 − 2i
m

)
I i

m

(⌈n
2

⌉
,
⌈n

2

⌉)

&�� 	�.��
��� �� ������
��� ���
���

∃i : ρii = 1 ⇐⇒ ∃i : (1 − i

m
) −
(

1 − 2i
m

)
I i

m

(⌈n

2

⌉
,
⌈n

2

⌉)
= 1.

=�� �

 n ∈ N>1 ��	 m ∈ N� 
�� ��
�
���� �� 
�� ����� ����
��� ��� i = 0 ��	
i = m� &��������� ��� 
��  ����� ����� {Gk(t)} �� �
��	���
�
� '1�� �� ����

ρ00 = ρmm = 1 =⇒ {Gk(t)} �� ��������� .

$���
�	��� 
�� ����� �� ������
����
 '1� ��	 �� �
��	���
�
� '1�� �� ����
�
� 
��
����� 
��
 
��  ����� ����� {Gk(t)} �� ��������� ��
� �-��

� 
�� ��������� �
�
�� 0
��	 m� 	
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� ������
 
� ���������  ����� ������� �� ��
����
 
� �� ��� 
�� 
��� ��	 
�� �������
�
�
� 
� ��
 �������	 ��
� 
�� ��������� �
�
��� &�� 	
�������� ���
	
����$ �� �� ���������
�
�
� �� 
�� �������
�
� 
��
 
�� ������� �
��
� ���� � 
�������
 �
�
� ��	 ����
��

�
��
� �������	 ��
� 
��
 ��������� �
�
�� B���

 
��
 
�� .��
 ������� �������
�
� fij

��������
� 
�� �������
�
� 
��
 �
��
��� ���� �
�
� i� 
�� ������� ���� ������� �
�
� j�
&���� 
�� �������
�
� fij ��������
� 
�� ������
��� �������
�
� ��� �� ��������� �
�
�
j ��	 � 
�������
 �
�
� i�
&� �����
� 
�� ������
��� �������
�
� ��	 
�� ���� 
��� 
� ������
���� �� ���


��	��� 
�� ���	����
�
 ��
��- LC5M �� +�.��
��� G�5I ��	 �
� ��
�
�	 ������
��� ��
&������ G�5D�

��)�	�	�� �*
; +#���������� ����	%,* ��� 	 �	�%�� ��	�� ���� b 	
���
��


��	���� ��� ��	������� �	��� �	� 
� ��������� 	�

P =
(

Ib 0
R Q

)
, 8G�F9

����� Ib �� 	 b× b �������$ �	��� � (������
 
$ I ��� �������$ �	��� � ��� ���	����
�

��
��- ��� ��� 	
���
��
 �	�%�� ��	�� �� ������ 	�

F def= (I −Q)−1.

! ����� �*
< +B�
8 �*�""C,* +� 	� 	
���
��
 �	�%�� ��	��� ��� F 
� ��� ����	����	�

�	��� 	�� R 
� ��� �	��� ������
�� �� ��� ��������
 ����������

�� ��� ���������� �� FR = (fij) ��������� ��� 	
�������� ���
	
����$ fij �� ��	������

��	�� i �� 	
���
��
 ��	�� j�
�� ��� ����	����	� �	��� F = (τij) ��	��� ��� ��� ��	� ���� τij ��	� ��� �������

������ 	� ��	������ ��	�� j 	������
 �� ��	��� ���� ��	������ ��	�� i�

,���� &������ G�5D� �� 	����� 
�� ���� ����������� 
��� ��  �'1� ��
���
 ��
��

���� 
��
 ��� 
�� ��
� �� ����
�� 	���
�

! ����� �*
= +���� ����������� !	�� �� ����
 ?	� ��� �����	��,* *���
���� �� �	�� 	 '� ����
 �	���� ���������� n��	���� +,�*�	�� �� ���	����� 	�� ������


����	����	� �� ���	�$���	�� ��������� 2�� F = (τij) 
� ��� ����	����	� �	��� �� ���

�	�%�� ��	�� {Gk(t)} ������������
 �� ���� '�� ��� ����� k ∈ {1, . . . , l}� 
���� ���

�����	� ��	�� ������
����� π(0) = (π0(0), . . . , πm(0))� ��� ��	� ������
���� ���� ��

τ =
m−1∑
i=1

m−1∑
j=1

πi(0)τij .

/����� !� ���� ����� 
��
 
��  ����� ����� {Gk(t)} ��� 
�� ��������� �
�
�� 0 ��	m
���������	��� 
� 
�� ���	�.��	 '1� %�
 A �� 
�� ��
 �� ��������� �
�
�� �� {Gk(t)}�
����
� A ≡ {0,m}� &������ G�5D ��	���
�� 
�� ���	����
�
 ��
��- �� 
��  �����



#�� '�� ������� <���� 
� +���� -.

����� {Gk(t)} ��������
��� 
�� ���� 
��� 
��
 
�� ������� ����	� �
 �
�
� j ∈ Ā
�
��
��� ���� �
�
� i ∈ Ā� &�� ���� 
��� τi 
��
 
�� ������� ����	� ����� 
�������

�
�
��� �������� �
 �
��
� ���� 
�������
 �
�
� i� ��� �� 	�����	;

τi =
∑
j∈Ā

τij.

&��������� ����� 
�� ���
��
 �
�
� 	��
����
��� π(0)� �� ���� 
�� ���� ����������� 
���

τ =
m−1∑
i=1

τi Pr(i | t = 0) =
m−1∑
i=1

τiπi(0) =
m−1∑
i=1

m−1∑
j=1

πi(0)τij .

	

! ����� �*�> +���6�6	�	�� �� �����������,* 2�� {Gk(t)} 
� ��� �	�%�� ��	��

������������
 �� ��� '� ����
 �	���� ���������� n��	���� +,�*�	�� 	�� �� ���	�����

��� ����� k ∈ {1, . . . , l}� 
���� ��� �����	� ��	�� ������
����� π(0) = (π0(0), . . . , πm(0))�
��� ���
	
������� �� ������
���� �� 	���0���� 	�� 	������� �����	���� 	�� �����������$

lim
t→∞Pr{∀c ∈ C : ck = 0} = π0(0) +

m−1∑
i=1

πi(0) · (FR)i0,

lim
t→∞Pr{∀c ∈ C : ck = 1} = πm(0) +

m−1∑
i=1

πi(0) · (FR)im,

����� (FR)ij ������ ��� (i, j) ������� �� ��� �	��� ������� FR�

/����� "���� {Gk(t)} �� �� ���������  ����� ����� ��
� 
�� ��������� �
�
�� 0 ��	 m�

�� ������
��� �������
�
���

fi0 = lim
t→∞Pr{Gk(t) = 0 | Gk(0) = i},

fim = lim
t→∞Pr{Gk(t) = m | Gk(0) = i}.

&������ G�5D 
�

� 
�� ������
��� �������
�
� �� 
�������
 �
�
� i ∈ {1, . . . ,m − 1} 
�
��������� �
�
� j ∈ {0,m};

fij = (FR)ij .

1		�
����

�� 
�� ������
��� �������
�
� ��� i, j ∈ {0,m} ��

fij = δij =

{
1 �� i = j

0 �� i 
= j
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����� 
�� �������
�
� ��� 
�� '1 
� �������� 
� �

�:���� ����
�
��� ��

lim
t→∞Pr{∀c ∈ C : ck = 0} = lim

t→∞Pr{Gk(t) = 0}

= lim
t→∞

m∑
i=0

Pr{Gk(t) = 0 | Gk(0) = i}Pr{Gk(0) = i}

=
m∑

i=0

fi0πi(0)

= π0(0) +
m−1∑
i=1

πi(0) · (FR)i0

&�� �������
�
� �� ����������� 
� �

����� ����
�
��� ��� �� �����	 ����
��
�� 	

4 	���� :���� $����	�� 
�� 
���� k �� � ������
����
 '1 ����� ����
�
��� ��:� 6� ����
	�� ��
��
���� 3������
 (��"���� ��	 �� ��
�
���� 1����	��� 
� &������ G�CD� 
��

�����
��� ��
��- �� 
�� ���������	���  ����� ����� ��

P =

0 1 2 3 4 5 6
0
1
2
3
4
5
6

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0
0.63 0.30 0.06 H�7��E E�F��G C�5��7 C�I��I
0.17 0.35 0.30 0.14 0.04 7�5��E E�6��G
0.02 0.09 .023 0.31 0.23 0.09 0.02
E�6��G 7�5��E 0.04 0.14 0.30 0.35 0.17
C�I��I C�5��7 E�F��G H�7��E 0.06 0.30 0.63

0 0 0 0 0 0 1

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎠

.

(������
�� 
�� �
�
�� 0 ��	 6 ��� ��������� �
�
��A 
��� 
��� ����� �� ���������� =�
�

����� +�.��
��� G�5I� 
�� 
�����
��� ��
��- ��� �� �����

�� ��

P =

0 6 1 2 3 4 5
0
6
1
2
3
4
5

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0
0 1 0 0 0 0 0

0.63 C�I��I 0.30 0.06 H�7��E E�F��G C�5��7
0.17 E�6��G 0.35 0.30 0.14 0.04 7�5��E
0.02 0.02 0.09 .023 0.31 0.23 0.09
E�6��G 0.17 7�5��E 0.04 0.14 0.30 0.35
C�I��I 0.63 C�5��7 E�F��G H�7��E 0.06 0.30

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎠

��
�

R =

⎛
⎜⎜⎜⎜⎝

0.63 C�I��I
0.17 E�6��G
0.02 0.02
E�6��G 0.17
C�I��I 0.63

⎞
⎟⎟⎟⎟⎠ , ��	 Q =

⎛
⎜⎜⎜⎜⎝

0.30 0.06 H�7��E E�F��G C�5��7
0.35 0.30 0.14 0.04 7�5��E
0.09 .023 0.31 0.23 0.09
7�5��E 0.04 0.14 0.30 0.35
C�5��7 E�F��G H�7��E 0.06 0.30

⎞
⎟⎟⎟⎟⎠ .



#�� '�� ������� <���� 
� +���� -2

&�� ���� 
��� τij ��� i, j ∈ {1, . . . , 5} ��� 
��� �� ��
����	 ���� 
�� ���	����
�

��
��-

(τij) = F = (I − Q)−1 =

⎛
⎜⎜⎜⎜⎝

1.51 0.15 0.05 0.03 0.02
0.88 1.66 0.40 0.24 0.19
0.57 0.67 1.74 0.67 0.57
0.19 0.24 0.40 1.66 0.88
0.02 0.03 0.05 0.15 1.51

⎞
⎟⎟⎟⎟⎠ ,

��	 
�� ������
��� �������
�
��� fij ��� i ∈ {1, . . . , 5}� j ∈ {0, 6}

(fij) = FR =

⎛
⎜⎜⎜⎜⎝

0.981 0.019
0.836 0.164
0.5 0.5

0.164 0.836
0.019 0.981

⎞
⎟⎟⎟⎟⎠ .
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�� ���
��
 	��
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���

πi(0) = B

(
i; 6,

1
2

)
��� i = 0, 1, . . . , 6,

��	 
�������� 
�� ���
��
 	��
����
��� ��

π(0) =
(

1
64

,
6
64

,
15
64

,
20
64

,
15
64

,
6
64

,
1
64

)
.

&�� ���� ����������� 
��� �� 	�����	 ��

τ =
(

6
64

,
15
64

,
20
64

,
15
64

,
6
64

)
·

⎛
⎜⎜⎜⎜⎝

1.51 + 0.15 + 0.05 + 0.03 + 0.02
0.88 + 1.66 + 0.40 + 0.24 + 0.19
0.57 + 0.67 + 1.74 + 0.67 + 0.57
0.19 + 0.24 + 0.40 + 1.66 + 0.88
0.02 + 0.03 + 0.05 + 0.15 + 1.51

⎞
⎟⎟⎟⎟⎠ = 3.23 .
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t→∞Pr{∀c ∈ C : ck = 1} =
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+
(

6
64

,
15
64

,
20
64

,
15
64

,
6
64

)
·

⎛
⎜⎜⎜⎜⎝

0.019
0.164
0.5

0.836
0.981

⎞
⎟⎟⎟⎟⎠ = 0.5 .
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u, v ∈ {1, . . . , l} ��

Cov(cu, cv) = 0.
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Cov(cu, cv) = E[cucv ] − E[cu]E[cv] = 0.
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pk(t)
selection−−−−−→ ps

k(t)
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k (t) survivor−−−−−→ pk(t + 1).
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f̄ =
1
|C|
∑
c∈C

f(c).
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��	� f̄ 	�� ��� �	��	��� σ2
F �� ������ 	��

f̄ =
l∑

k=1

pk

σ2
F =

l∑
k=1

σ2
k =

l∑
k=1

pk(1 − pk)

/����� &�� ���� .
���� ��� �� ��
����	 �� 8G�C9;

f̄ = E[f ] = E

[
l∑

k=1

ck

]
=

l∑
k=1

E [ck] =
l∑

k=1

pk.

1����	��� 
� %���� G�EE� �� ��� 	����� 
�� �������� �� .
���� ��

σ2
F = Var(f) = Var

(
l∑

k=1

ck

)
=

l∑
k=1

Var(ck) +
∑
u �=v

Cov(cu, cv)

=
l∑

k=1

σ2
k =

l∑
k=1

pk(1 − pk).
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S(t) = f̄ s(t) − f̄(t).
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I(t) =
S(t)
σF (t)

=
f̄ s(t) − f̄(t)

σF (t)
. 8G�C69
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Ip
k

def=
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k − pk

σk
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E [Ip] =
I√
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√
1 +

Var(σ)
E2[σ]

. 8G�CC9
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ps
k − pk = Ip

k σk.

"���� Ip
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E[ps] − E[p] = E [Ip] E[σ]. 8G�C59
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E [Ip] =
E[ps] − E[p]

E[σ]
=

1
l

∑l
k=1 ps

k − 1
l

∑l
k=1 pk

E[σ]
=

f̄ s − f̄

lE[σ]

=
IσF

lE[σ]
=

I
√∑l

k=1 σ2
k

lE[σ]
=

I√lE[σ2]
lE[σ]

=
I√
l

√
E[σ2]
E2[σ]

.

&�� �������� Var(σ) = E[σ2] − E2[σ]� &����

E [Ip] =
I√
l

√
E2[σ] + Var(σ)

E2[σ]
=

I√
l

√
1 +

Var(σ)
E2[σ]

.

	

5��	�% :�:�� 1� Var(σ)�E2[σ]� 
�� �-���
�	 ��
��
��� ��
����
� ��� ���� ��������� ��

E [Ip] ≈ I√
l

.

���� �� �
�
�:� 
�� ����� �-���
�
��� �� 
�� ��
��
��� ��
����
� ��� ���� ��������� �
 ���

���� k� $��������

�� 
�� �����
��� �� ���� ��������� �����	 �� ��
��
��� �����-���
��

�

ps
k ≈ pk +

( I√
l

)
σk. 8G�CE9

1 ����
���
 �	���
��� �� 8G�CE9 �� �
� �����
�
��� ��
� ��
��
��� ��
����
� I� 1����	�
���
�� �� ��� �
�
�:� 
�� �-��
��� ���
�
���
 ����

�� ���� LCCM� �� 
�� ��
��
��� ��
����
�
I �� 	������ ��
��
��� �����
��� �� '1�� Q�
� 
��
 
�� ��
��
��� ��
����
� ��� ����
��������� �� 8G�CE9 �� ����	 �� 
�� ������
��� Var(σ) � E2[σ]� /��� 
����� 
��� ���
����
��� 	��� ��
 ���������
� ��
	 �� 
�� ������ �� ���
�
���� �� ��

 ��������

� ����

��� �����-���
��� ��� ���� ��

 �� "��
��� G�G�7�
�� �		�
���� ����
��� 8G�CE9 ��	���
�� 
��
 � ����
��� ��
��
��� ��
����
� ��

 ����



�� � ���� ��������� ps
k ������ 
��� 
�� ���� ��������� pk� &�� �
������ 
�� ��
��
���

��
����
�� 
�� ������ 
�� ��������
 �� ���� ���������� =����� G�C7 �
�
� 
�� 	�0����
��

�� ���� ��������� ��	���	 �� ��
��
��� �� 
�� 100���
 (�� �- ����
��� ���� l = 100�
(������
�� ������� ��
��
��� ��
����
� ��������� 
�� 	�0����
��
 �� ���� ����������� ���

���� ps

k ��	 pk� �� 
�� (�� �- ����
�� �
 ����� 
��
 ������� ��
��
��� ��
����
� ��


�
���� ������� 
�� ���� .
���� �� ��
��
�	 �����
�� (� 
�� �
��� ���	� � 
��� �����
������ 
���
� ��

 
���� 
�� ��������
 �� ���� ���������� �������
�� 
�� ��������
 ��
���� ���������� �� ����� �� 8G�CE9� �� �� ������� ������
��� 
� 
�� ������ ���
 �� l�



/# # ����9��� )���� +��8
& 	���� '��
�9
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pk
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���� ����� '�� ��D�������� 
� ���� ���B����9 (ps
k−pk) ������� �9 ����
����� �������
� (��� �������
�

��������9 I 
� pk

�*�*� ! � ������ ����� ��� ����


�����	 ������
� ��?������ 
�� ��
����
 ��?����� ��  �'1 �����
��� ���� 
�� �������
����� �� �����	���	 �� 
��� ���
���� &� 
��� ��	� �� ��

�� 
��  ����� ��	�
 �������	
�� +�.��
��� G�CI 
� �����
�
� 
�� �����
��� �� ���� ��������� ���� ������
�����  ����
����� �� 
�� ��

����� ���
���� �� ��

 ����� 
��
 
�� �
�
�:�
��� �� ��
�
��� ��  �'1�

��	� 
� �� ��
����  ����� ����� ���
��	 �� �� 	
���
��
 ������ =��� 
���  �����
��	�
� 
�� ���� .
���� �
 ������
��� t ��	 
�� ���� ����������� 
��� �� 
�� (�� �-
����
�� ��

 �� 	�����	�
������ ������
��� 
��  ����� ��	�
� �� ���� 
�� 	�.��
��� �� �������� ��	 �������


��� ��� �	��
�	 �� 
��� 
������

��)�	�	�� �*�
 +(���	��� ��� �������	�� ���,* *�
&��� �� ��� 
����	���� 
	�

γg
def= λ

m ���� λ ∈ {1, . . . ,m}� ��� �������� �	�����$ ������� λ ����������� ���� ���

�����	���� 	�� ����	��� ���� ���� λ �#�����
�

!�
� ��������� 
� 
��  ����� ��	�
 ��� ���� ��������� {Gk(t)} ������
�	 �� +�.��
���
G�CI� �� 	����� ��
�� �
� 
�����
��� �������
�
��� �����	����� 
�� ��
����
 ��?����� ��
��
��
���� ���������� ��
�
���� ��	 ���������

! ����� �*��* ��� 	 '� ����
 ��������� ���� ��������� ��������$ I� n��	���� +,�

*�	�� 
���;�� ���	���� ���� ���	���� γm� 	�� �������� ���� 
����	���� 
	� γg = λ
m �

��� ��	������� ���
	
����$ ρij �� ��� �	�%�� ��	�� {Gk(t)} ������������
 �� ��	� '� ��

ρij =
λ∑

x=0

B(x;λ, p′k) · H(j − x;m − λ, i,m)



#�# '�� 	
�&������� 
� +���� /,

����

p′k = I
i
m

+I
√

i(m−i)

m2l

(⌈n

2

⌉
,
⌈n

2

⌉)
+ γm

(
1 − 2I

i
m

+I
√

i(m−i)

m2l

(⌈n

2

⌉
,
⌈n

2

⌉))
.

/����� &�� �
��
��� �
�
� i �� 
�����
��� �������
�
� ρij ����� 
�� ���� ��������� pk = i
m �

=��� 8G�CE9� %���� G�I� ��	 %���� G�C5� �� ��� �����
� 
�� ���� ��������� p′k ��

�� �0������ �����	���	 �� 
�� ���	�.��	 '1;

p′k = px
k + γm (1 − 2px

k)

= Ips
k

(⌈n

2

⌉
,
⌈n

2

⌉)
+ γm

(
1 − 2Ips

k

(⌈n

2

⌉
,
⌈n

2

⌉))
= I

pk+ I√
l

√
pk(1−pk)

(⌈n

2

⌉
,
⌈n

2

⌉)

+ γm

(
1 − 2I

pk+ I√
l

√
pk(1−pk)

(⌈n

2

⌉
,
⌈n

2

⌉))

= I
i
m

+I
√

i(m−i)

m2l

(⌈n

2

⌉
,
⌈n

2

⌉)
+ γm

(
1 − 2I

i
m

+I
√

i(m−i)

m2l

(⌈n

2

⌉
,
⌈n

2

⌉))
.

B����	��� ������
��� ��� γg = λ
m � 
���� ��

 �� λ ��
 �� m ����������� ���	��
�

��
��
�	 ���� 
�� ����
�
��� ��	 ���
���	 ��
� λ �0������� 1����	��� 
� B����� ��	
�����
������

J� ������ LDEM� 
�� ����

��� ����
�
��� ��� �� �����	�	 �� � �����
�� � �����
 A ������
��� �� λ �0������ ��	 � �����
 B �����	 �� ��
��
��� (m − λ)
������� �
 ���	�� ���� 
�� ����
�
��� ��
���
 ���
������
� +���
� �� |A1| ��	
|B1| 
�� ������ �� �

�
� 1 �� A ��	 B� ������
���
�� "���� �0������ ��� �����	���	
������������$ �� λ 
���� �� �����������������������	���� �������� 
�� ������ |A1| ��
	�
� �������
 	��
����
��� B(λ, p′k)� ������ 
�� ������

Pr{|A1| = x | Gk(t) = i} = B(x;λ, p′k).

=��
�������� 
�� ������ �� �

�
� C �� B ��
	� � ����������
��� 	��
����
��� H(m −
λ, i,m) ������� �� ���	�� ��
��
��� ��
���
 ���
������
� &����

Pr{|B1| = y | Gk(t) = i} = H(y;m − λ, i,m).

"���� A ��	 B ��� ��	����	��
� 
�� 
�����
��� �������
�
� ��

ρij = Pr{Gk(t + 1) = j | Gk(t) = i}
=
∑

x+y=j

Pr{|A1| = x, |B1| = y | Gk(t) = i}

=
λ∑

x=0

Pr{|A1| = x | Gk(t) = i}Pr{|B1| = j − x | Gk(t) = i}

=
λ∑

x=0

B(x;λ, p′k) · H(j − x;m − λ, i,m).

	




/- # ����9��� )���� +��8
& 	���� '��
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5��	�% :�::� =�� ������
����
 '1� 8������
��� ��� γg = 19 ��	 �
��	���
�
� '1�
8������
��� ��� γg = 1

m 9� 
�� ����� 
������ ����� 
�� 
�����
��� �������
�
��� �� 
��
���������	���  ����� ������;

'�����
����
 '1�; ρij = B(j;m, p′k)
"
��	���
�
� '1�; ρij = (1 − p′k) · H(j;m − 1, i,m)

+ p′k · H(j − 1;m − 1, i,m)

5��	�% :�:6� 1����	��� 
� $���

��� G�D� ��� 
�� ���	�.��	 '1 ��
 ����� ,�"���� 
��

�����
��� �������
�
� �� ����
 
� 
��
 �� (��"��� ��
� n = 2 �� &������ G�GE�

�����
	�	�� �*�:* ��� �	�%�� ��	�� {Gk(t)} ������������
 �� ��� '� 
���� �� ����

���� :�:� �� ����
�������

/����� 1  ����� ����� �� ���	 
� �� ����������� �� 
�� 
�����
��� �������
�
��� ������
����
��
 ���� 
���� &�� 
�����
��� �������
�
� ρij �� 
��  ����� ����� {Gk(t)}� ��
����� �� &������ G�GE� �� ��	����	��
 �� 
��� t� &��������� 
��  ����� ����� {Gk(t)}
�� ������������ 	

"���� 
��  ����� ����� {Gk(t)} ����� �� &������ G�GE �� ������������ �� ��� �
�
�:�
8G�H9 
� �����
� 
�� �
�
� 	��
����
��� �
 ������
��� t� &��� 
��	� 
� 
�� ��

�����

�������

! ����� �*�; +���� #	���

,* *������ �� �	�� ��� ��	�� ������
����� π(t) =
(π0(t), . . . , πm(t)) ������������
 �� ��� '� 
���� �� ������� :�:�� 3� ��� +���	 
���
���� ��� ��	� f̄(t) 	�� ��� �	��	��� σ2

F (t) �� ������ 	��

f̄(t) =
l

m

m∑
j=0

jπj(t)

σ2
F (t) =

l

m2

m∑
j=0

j(m − j)πj(t)

/����� '���� 
�� �
�
� 	��
����
��� π(t) ��� 
���� k ∈ {1, . . . , l} �
 ������
��� t� ��
���� 
�� ���� ��������� pk(t)

pk(t) =
m∑

j=0

(
j

m

)
Pr{Gk(t) = j} =

1
m

m∑
j=0

jπj(t).

!�
� 
�� ����� ����
���� ���� %���� G�E7 �� ��
��� 
�� ���� .
���� �
 ������
��� t

f̄(t) =
l∑

k=1

pk(t) =
l

m

m∑
j=0

jπj(t)

��	 
�� ��������

σ2
F (t) =

l∑
k=1

(
pk(t) − p2

k(t)
)

= l

m∑
j=0

(
j

m
−
(

j

m

)2
)

πj(t) =
l

m2

m∑
j=0

j(m − j)πj(t).
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&������ G�GE ���� 
�� 
�����
��� ��
��- �� 
��  ����� ����� {Gk(t)} ��� 
�� '1 �����
��
��
��� ��
� ��
��
��� ��
����
� I� n������
 (��"���� ��
�?�� ��
�
��� ��
� ��
�
���
��
� γm� ��	 �������� ��
� ������
��� ��� γg� �� 
��� ���
���� �� 
��� ���
��� ��
�

�� ������
���� �� {Gk(t)} @ �
 
��
 
��� 
�� �
�
� 	��
����
��� ��

 �
�� ��������

���� 
�� ������� �������� �
� �� 
���� ��  ����� ������ LC5M� ���� � �
�
� 	��
����
��� ��
�������	 
� �� ��	����	�$ ������
����� 8�� �7����
���� ������
�����9 ��	 
��� ����� �� ��

�	
��	����	�$� !� ��

 ���� 
��
 
��  �'1 ����� �� &������ G�GE ��� 
��� �����������
������
�� =��
�������� 
�� ���� ����������� .
���� ��	 
��� �� 
�� (�� �- ����
��
��

 �� 	�����	�

-���� �*�< +$����	�	�� B�>8 �*">C,* � �	�%�� ��	�� �� ����	��� �� 	�� ���$ �� ���

��	������� �	��� �� ���������� ����

∃t ∈ Z+ : Pt > 0,

����� 0 ������� :��� ��
��- 	�� Pt > 0 ���������� ��	� 	�� ���������� �� Pt 	��

�������$ ���������

! ����� �*�= +(���	����� �	
��	6��	�� B�>8 �*">C,* ��� 	� ��
���� �	�%�� ��	��

���� ��	�� ��	�� {0, 1, . . . ,m}�
�� ��� ������ Pt �� ��� ��	������� �	��� P ������
� ������������� �� 	 �	��� �����

	�� ���� 	�� �7�	�� 3� �� ������ 	 �$���	� ��� 
$ π = (π0, . . . , πm)� ���� �� �	��

πi > 0 	��
∑

i πi = 1 ��� 	�� i ∈ {0, . . . ,m}�
�� π �� ��� ���7�� ������ ���� ��	�

πP = π. 8G�CG9

���� ���7�� π �� �	���� ��� �
�
������ 	��
����
��� 	�����	��� ���� ��� ��	���

�
 �� ���
�� �� ��
� 
��
 
�� �
�
������ 	��
����
��� π �� ��	����	��
 �� 
�� ���
��

	��
����
��� π(0)� �� �
��� ���	�� 
�� ������� ��
� ��� ����� ���
��
 	��
����
��� ��


�������� 
� 
�� ���� 	��
����
���� ��: 
�� �
�
������ 	��
����
���� �� �		�
���� 
��
�
�
������ 	��
����
��� ��������
� � .-�	 �
�
��� ���� ������������ �� ���� ����������
)�
� �� ����� ������; +��� 
���� �-��
 ���� � �
�
������ 	��
����
��� �� 
��  �����
����� {Gk(t)}< &� ����� 
�� �-��
����� �� ���	 
� ����� 
��� ����� �� ����	���
-���� �*"> +B";8 �*"�;C,* 3� 	� n×n �	��� A �� �����
	���� 	�� ��������
��� 	��

�� 	�� ��� �	�� ��	
��	� ������� �� A 	�� ��������� ���� An−1 > 0�

�����
	�	�� �*"�* -��� ���	���� �	�� 0 < γm < 1� ��� ��	������� �	��� P ������

�������
 �� ��� '� 
���� �� ������� :�:� �� ��������
���

/����� &�� ��
��- P �� ����	����
� �� 
�� ��
���� ρi,i−1 > 0 ��� �

 0 < i ≤ m ��	
ρi,i+1 > 0 ��� �

 0 ≤ i < m� !� ��	���	��

� ����� 
���� 
�� ������
�
��� �� ��

����

1 '�� ���� ������� �� ���
 �������� �
 �� ��������	
� ��� �
��������



// # ����9��� )���� +��8
& 	���� '��
�9

C� =�� ρi,i−1 ��
� 0 < i ≤ m; =��� &������ G�GE� �� ���� 
�� 
�����
��� �������
�
�

ρi,i−1 =
λ∑

x=0

B(x;λ, p′k)H(i − 1 − x;m − λ, i,m).

��
�
p′k = px

k + γm(1 − 2px
k).

"���� 0 < γm < 1 ��	 0 ≤ px
k ≤ 1 8�������
�
� 1-���9� 
�� �������
�
� p′k ��

0 < p′k < 1.

&��� ����� 
�� �������
 	��
����
���

B(x;λ, p′k) > 0. 8G�C79

=�� 
�� ������ �� ����������
��� 	��
����
���� �� ����

H(i − 1 − x;m − λ, i,m) > 0 ⇐⇒ i ≥ i − 1 − x ��	 i − (i − 1 − x) ≤ m − (m − λ)
⇐⇒ −1 ≤ x ≤ λ − 1

&���������

H(i − 1 − x;m − λ, i,m)

{
> 0 �� − 1 ≤ x ≤ λ − 1,
= 0 �
�������.

8G�CH9

1����	��� 
� 8G�C79 ��	 8G�CH9� �
 ��
	� ��� 
�� 
�����
��� �������
�
� ��
� λ ∈
{1, . . . ,m} 
��


ρi,i−1 =
λ−1∑
x=0

B(x;λ, p′k)H(i − 1 − x;m − λ, i,m) > 0. 8G�CI9

5� =�� ρi,i+1 ��
� 0 ≤ i < m; &������ G�GE ����� 
�� 
�����
��� �������
�
�

ρi,i+1 =
λ∑

x=0

B(x;λ, p′k)H(i + 1 − x;m − λ, i,m).

"���
��
�� 8G�C79 ��
	� �� 
��� ����� =�� ����������
��� 	��
����
���� 
�� ������

H(i + 1 − x;m − λ, i,m) > 0 ⇐⇒ i ≥ i + 1 − x ��	 i − (i + 1 − x) ≤ m − (m − λ)
⇐⇒ 1 ≤ x ≤ λ + 1

����� �� ����

H(i + 1 − x;m − λ, i,m)

{
> 0 �� 1 ≤ x ≤ λ + 1,
= 0 �
�������.

8G�CD9



#�# '�� 	
�&������� 
� +���� /2

1����	��� 
� 8G�C79 ��	 8G�CD9� �
 ��
	� ��� 
�� 
�����
��� �������
�
� ��
� λ ∈
{1, . . . ,m} 
��


ρi,i+1 =
λ∑

x=1

B(x;λ, p′k)H(i + 1 − x;m − λ, i,m) > 0. 8G�CF9

/���
���� 8G�CI9 ��	 8G�CF9 ���� ρi,i−1 > 0 ��� 0 < i ≤ m ��	 ρi,i+1 > 0 ��� 0 ≤ i < m�
&��������� 
�� 
�����
��� ��
��- P �� ����	����
�� 	

�����
	�	�� �*"
* -��� ���	���� �	�� 0 < γm < 1� ��� �	�%�� ��	�� ������������


�� ��� '� 
���� �� ������� :�:� �� ��
�����

/����� &������ G�GE ����� 
�� 	������
 ��
���� �� 
�����
��� ��
��- P ���������	���

� 
�� ���	�.��	 '1;

ρii =
λ∑

x=0

B(x;λ, p′k)H(i − x;m − λ, i,m). 8G�569

/���
��� 8G�C79 ��	���
�� B(x;λ, p′k) > 0 ��� 0 < γm < 1� &�� ����������
��� ���
 ��
8G�569 ��

H(i − x;m − λ, i,m) > 0 ⇐⇒ i ≥ i − x ��	 i − (i − x) ≤ λ

⇐⇒ 0 ≤ x ≤ λ

"���� B(x;λ, p′k) > 0 ��	 H(i− x;m− λ, i,m) > 0 ��� 0 ≤ x ≤ λ� ���� 8G�569 �� ����

�� 	������
 ��
����

ρii > 0.

�� �		�
���� 
�� 
�����
��� ��
��- P �� 	�.��	 
� �� �������
��� ��	 �������
��� G�7C
����� 
��� 
�����
��� ��
��- �� ����	����
�� 1����	���
�� %���� G�76 ����� Pm > 0�
��	 %���� G�GD ���
��� ��	���
�� 
�� ����	���
�� 	

-���� �*"�* 2�� {Gk(t)} 
� ��� �	�%�� ��	�� ������������
 �� ��� '� 
���� �� ����

���� :�:� 	� ����� k ∈ {1, . . . , l}� ��� ��� ��	�� {Gk(t)} ����� � ���� ��� ��	����	�$

������
����� π = (π1, . . . , πl)� ����� 
����

lim
t→∞Pr{Gk(t) = j} = πj.

/����� �������
��� G�75 ����� 
��  ����� ����� {Gk(t)} �� ����	��� B�������� 
� &����
��� G�GF� 
���� �-��
� 
�� ������ �
�
������ 	��
����
��� π ������ ��� �

 j ∈ {0, . . . ,m}

πj = lim
t→∞Pr{Gk(t) = j}.

	




26 # ����9��� )���� +��8
& 	���� '��
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! ����� �*"� +���� ����������� #	���

,* 3� ��� +���	 ���
���� ��� ���

��	� f̄∗ 	�� �	��	��� σ2∗
F �� ������
���� ������ �� ��� '� 
���� �� ������� :�:��

�� �	��

f̄∗ =
l

m

m∑
j=0

jπj

σ2∗
F =

l

m2

m∑
j=0

j(m − j)πj

/����� "���
�
�
� �
�
������ 	��
����
��� π ����� �� &������ G�7E ��
� 
�� ����
����
�� &������ G�GIA 
��� �� ����
�
� 
�� ������ 	

�� �		�
��� 
� �
�
������ 	��
����
���� �� �����
���
� 
�� ���� 
��� ��� 
�� �������
�� '1 
� ������� 
���� �
�
��� &� 
��� ��	� �� ��
��	��� 
�� ���	����
�
 ��
��- ���
����	�� ������ LC5M �� +�.��
��� G�77� &�� ���� 
��� ��� 
��� �� 	�����	 ���� 
��
���	����
�
 ��
��-�

��)�	�	�� �*"" +#���������� ����	% �� $����	� � �	�
,* ��� 	� ��
���� �	�%��

��	��� ��� ����	����	� �	��� 

Z def= (I − (P − Π))−1 ,

�����

Π =

⎛
⎜⎜⎜⎝

π
π
���

π

⎞
⎟⎟⎟⎠ =

⎛
⎜⎜⎜⎝

π0 · · · πm

π0 · · · πm
���

���

π0 · · · πm

⎞
⎟⎟⎟⎠ .

! ����� �*": +B�
8 �*
�>C,* 2�� µij 
� ��� ��	� ���� �� ��	�� j ��	����
 ���� ��	�� i�

��� �	��� M def= (µij) �� 
���� 
$

M = (I− Z + 1diag(Z)) diag (Π)−1 ,

����� 1 ���������� ��� �	��� ���� 	�� ������� �7�	� �� 1 	�� diag(Z) �� ��� ��	
��	�

�	��� ����� �	� ��� �	�� ��	
��	� 	� Z� ������	�����$� ��� 	
��� �7�	���� �	� 
�

� �������$ ������� 	��

µij = (δij − zij + zjj) /πj.

Q�� �� 
����� 
�� 	�����
��� �� 
�� ���� 
��� ��� 
�� ������� 
� ������� �
�
������
��

-���� �*";* 3� ��� ����	����	� �	��� Z� ��� 	�$ ��� i ��� ��� �� ������� �� ����

��� �� ���< ��	� ��� ∑
j

zij = 1.

2 >���� �
 '��
��� .�. 5�6* ��,,7



#�# '�� 	
�&������� 
� +���� 2�

/����� &�� ���	����
�
 ��
��- ��� �� ��������
�	 ���

Z = I +
∑
t≥1

(
Pt −Π

)
.

=�� ��� t� ���� ��� �� 
�� ��
����� Pt ��	 Π ��
��.��∑
j

ρ
(t)
ij = 1 ��	

∑
j

πj = 1.

����� 
�� ��� �� ��
���� �� ��� ��� i �� 
�� ���	����
�
 ��
��-

∑
j

zij =
∑

j

⎛
⎝δij +

∑
t≥1

(
ρ

(t)
ij − πj

)⎞⎠ = 1 +
∑
t≥1

∑
j

(
ρ

(t)
ij − πj

)
= 1.

	

! ����� �*"< +���� ����������� !	��,* 2�� {Gk(t)} 
� ��� �	�%�� ��	�� ����

���������
 �� ��� '� 
���� �� ������� :�:� 	� ����� k ∈ {1, . . . , l} 	�� ��� Z 
� ���

����	����	� �	��� �� {Gk(t)}� ��� ��	� ������
���� ���� µ �� 
���� 
$

µ =
∑

diag (Z) =
m∑

j=0

zjj.

/����� �������
��� G�75 ��� ����� {Gk(t)} �� ����	��� 1����	��� 
� +�.��
��� G�77 ��	
&������ G�7H� 
�� ���� 
��� µij 
� �
�
� j �
��
��� ���� �
�
� i ��� i, j ∈ {0, . . . ,m}
��

µij = (δij − zij + zjj) /πj.

%�
 µi �� 
�� ���� 
��� �
��
��� ���� �
�
� i� '���� 
�� �
�
������ 	��
����
��� π� ��
����

µi =
m∑

j=0

µijπj =
m∑

j=0

(δij − zij + zjj)

= 1 −
m∑

j=0

zij +
m∑

j=0

zjj. 8G�5C9

%���� G�7I ����� ��� ��� i 
�� ���
∑m

j=0 zij = 1� &��� 8G�5C9 
���� ��
�

µi = 1 − 1 +
m∑

j=0

zjj =
m∑

j=0

zjj . 8G�559

3 >���� �
 5��* ����-7
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& 	���� '��
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"����
∑

i πi(0) = 1� 
�� ���� ����������� 
��� µ �� ��
����	 ��

µ =
m∑

i=0

µiπi(0) =

⎛
⎝ m∑

j=0

zjj

⎞
⎠ m∑

i=0

πi(0) =
m∑

j=0

zjj.

	

5��	�% :�6?� /���
��� 8G�559 �����
� 
��
 
�� ���� 
��� 
� ����
������ µi �� ��	�����
	��
 �� 
�� �
��
��� �
�
� i� &��
 �� 
� ���� 
�� ���
��
 	��
����
��� ��� �� �0��
 �� 
��
���� 
��� µi @ 
��� ������
� ���������	� 
� 
�� ���0��
������� �� ���
��
 	��
����
���
�� �
�
������
��

&��� ���
��� ���

 �  ����� ��	�
 
� �����
�
� 
�� �����
��� �� ���� ��������� �� 
��
������ �� ���
�
���� &�� �������	 ��	�
 �������� 
�� �0��
� �� ��
��
��� ��
����
� I
�� ��
��
���� 
�� ������ �� �����
� n �� ��

�������
 ���������� ��
�
��� ��
� γm ��
��
�
���� ��	 ������
��� ��� γg �� ��������� &��� ��	�
 	�����
��
�� 
�� ��?�����
�� 
���� ���
��� �� 
�� ���� .
���� ��� 
�� (�� �- ����
��� =��
�������� 
�� ����
����������� .
���� ��	 
��� ��� 	�����	 ���� 
���  ����� ��	�
�  ��� 
�����
���

����

� ��� ������
�	 �� 
�� ��-
 ���
����

�*�*" ! �����	��� &�
���
 ��� $%���	������ 7��	���	��

&��� ���
��� 	�����
��
�� 
�����
���
 ����

� ��
����	 ���� 
�� ����� 
��������  ����
����� �� ���	��
 � ������ �� �-�������
� �� 
�� (�� �- ����
�� 
� ��
�	�
� 
����

�����
���
 �������
�� &�� ��

��� ��  �'1� ���	 �� ��� �-�������
� �� 
��
�	 ��
=��� G�CH� &�� ��:� �� 
�� (�� �- ����
�� �� ��
 
� �� 100 ��
�� /��� �-�������

��

��� ���
�	�� C66 ��	����	��
 �����

�� �9�� ��������
��� ��
>�����������
� 4�� ������  l = 100"
�
������
� ��;� ��/

3������
� ������ ���8��� �������
�
3������
� ���� η+ ��,

	�
��
&�� )%3��� ��� $4%3��� (��� n = 2, . . . , 20

	�
��
&�� ���� γx ��6
+�����
� 4��%?�� ������
�

+�����
� ���� γm 6�6�* 6�6,* 6��* ��� 6��
'��������
� �666 ��������
��

���� ����� '�� ������� 
� +���� �� �1���������



#�# '�� 	
�&������� 
� +���� 2�

�*�*"*� ������ �� (�����	�� ��� �����	��

=���
 �� �

� �� �-�����  �'1� ������� ��
��
���� ���� 
�� ��
��
��� ��
����
� I �� :����
&��� :��� ��
��
��� ��
����
� ������� 
�� ��
��
��
 ����� �����	 �� �	��
��� 
�� �-�
���
�
��� �� 
�� ���
 ��
��
��� ��
����
� ��� ���� ��������� �� 8G�CE9� 1����	���
�� 
��
��	�
 �������	 �� &������ G�GE ������� �� �-��
 ��	�
� Q�
� 
��
 :��� ��
��
���
��
����
� ���
	� � ���	�� ��
��
��� ��
� �� ���������� ��� �

�
� 0 �� 1� &�� �-���
�	
���� ��������� ��

 
��� �
�� �
 0.5� ����� �����
 �0��	 
� �-����� 
�� �0��
� ��
��������� ��	 ��
�
���� =�� 
��� �� 
��� 
� ���
��
�:� 
�� ����������� ��
� � ���	��

������	 ����� !� 	���
� �� β 
�� ���
��
�:�
��� ���� �� ����� �� �

�
� 1� =����� G�CI
�������� 
�� 
�����
���
 ��	 
�� �-�������
�
 ���� .
���� ��� 
��  �'1 ����� ����

��
�:�
��� ���� β = 1

32 ��
� ��
�
��� ��
� γm = 0.01 ��	 0.1 ������
���
�� &�� ���	
.
 ��
���� 
�����
���
 ��	 �-�������
�
 ����

� 	�����
��
�� 
�� �0��
������� �� ���
�������	 ��	�
� �� =��� G�CI� 
�� ���.
�� �� ,�"��� �
�� ����
��
 ��� �

 ������� ��
�����
�� &��
 ��� ,�"��� ��
� ��� ������ �� �����
� ���������	� 
� 2������
 ,�"���
��	 2������
 (��"���� &��� ���������� ��
�	�
�� $���

��� G�7 ��	 B����� G�G7;
&�� ������ �� �����
� ��� �� ��?����� �� 
�� ����������� �� ,�"���� �� �
��� ���	��
n������
 ,�"��� ��
� n ∈ N>1 �������� ���
�����
� 
� 2������
 (��"����  ��������
=��� G�CI ����� 
��
� ��
���
 ��
��
��� �������� 
�� ���� .
���� �� 2������
 (��"���
8��: ������� ���������9 �� ���� ����� 
��� 
��
 �� n������
 (��"��� ��
� n > 2� ����
����
�� 2������
 (��"��� ��������� 
� 
�� .
���� l(0.5 + β) ���
� ����� ���� �����
�
����

� �� ������ .
����� &��� ����������
� �� ���
����	 �� "��
��� G�C�5� �� �

����
�	

� 
�� �0��
 �� ��
����.��
��� �� (��"���� 1� ��� 
�� �0��
 �� ��
�
���� 
�� �������� ��
��
�
��� ��
� ��
 ��
� ��
����� 
�� �������� �� ���������
 .
���� ��
 �
�� ����
����
�

�� ��
����.��
��� �����	 �� ������� �����
� �� (��"���� &�� 
�

�� �� 	�����
��
�	
�� 
�� 	�
������
��� �� .
���� �� ��
�
��� ��
� �� ��������	 ���� 6�6C 
� 6�C�
Q�-
� �� �����	��  �'1� ���� ��
��
���� �����.��

�� '1� ����� ��
��
��� ��
�

��
��
��� ��
����
� I > 0� n������
 (��"���� ��
�?�� ��
�
��� ��
� 0 < γm < 1�
��	 �������� ��
� ������
��� ��� γg� �� 
��� ���
��� �� �	��
 
����� ������� ��
��
���
L75� CCGM �� 
�� ��
��
��� �����
��� &�� 
����� ������� ��
��
���� �� �
� ���� 
�

�� �������

�� �������
�
� ��� � ���������� 
� �� ��
��
�	 �����	��� 
� � 
����� �����
� ����	
�� 
�� ���� �� 
��� ����������� %�
 i ∈ {1, . . . ,m} �� 
�� ���� 81 ��� 
�� ����

���������� ��	 m ��� 
�� ���
 ���9� 
�� �������
�
�

Pr{ci 
� �� ��
��
�	} =
1
m

[
η− + (η+ − η−)

i − 1
m − 1

]
,

����� 1 ≤ η+ ≤ 2 ��	 η− = 2 − η+ ��� 
�� ������
��� ���	 
� ���
��
 
�� 
�����

��
�
��� LHM� �������
�� η−
m ��	 η+

m ��� 
�� �-���
�	 �������
�
��� ��� 
�� ����
 ��	 
��
���
 ���������� 
� �� ��
��
�	� ������
���
�� =�� 
�� 
����� ������� ��
��
���� �
���
�
��	 &���
� LCCM 	�����	 �
� ��
��
��� ��
����
�� �� 
�� ��

����� 
�-
 �� ��

 ��� 
����
�����
� 
� �����
� 
�� ��
��
��� ��
����
� �� 
����� ������� ��
��
���;

IR = (1 − η−)
1√
π

= (η+ − 1)
1√
π

. 8G�5E9



2# # ����9��� )���� +��8
& 	���� '��
�9

 45

 50

 55

 60

 65

 70

 75

 80

 2  4  6  8  10  12  14  16  18  20

M
ea

n 
F

itn
es

s

Number of Parents (n)

Theoretical (OB)
Experimental (OB)

Theoretical (U)
Experimental (U)

 45

 50

 55

 60

 65

 70

 75

 80

 2  4  6  8  10  12  14  16  18  20

M
ea

n 
F

itn
es

s

Number of Parents (n)

Theoretical (OB)
Experimental (OB)

Theoretical (U)
Experimental (U)

���� ����� '�� ���� !����� �
� ��� +��� ����� ��������;���
� ���� β = 1
32

* ����
� �������
�  I = 0"*
n%������ $4%3��� ��� )%3���* ��� ���%?�� ������
� (��� γm = 0.01  �
�" ��� γm = 0.1  �
��
�"
����� 1000 ��������
��



#�# '�� 	
�&������� 
� +���� 2,

=������ G�CD ��	 G�CF ������� 
�� ���� .
���� �����
�	 �� &������ G�GI ��
� 
��
���� .
���� �������	 ���� C66 ����� =���
� 
���� .����� ���� 
�� 
�����
���
 ��	 
��
�-�������
�
 ����

� .
 ���� ��

� "����	� �� ��� ��� 
�� ���.
�� �� n������
 (��"���
��
� �� ���� n ��� ���� �
��� 
� 
���� �� (n−1)������
 (��"���� &��� ���.��� 
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�� �-
������ �� ������ x�
1����� 
�� ��
��
��� ��
����
� I ��� �� �	��
���
 �0��
 �� ���� 
����A 
�� �����
��� ��
.
���� �����	 �� ��
��
��� ��� �� ��������
�	 �� � �������������
�	 ������ ���
��� ��
����� �� =��� G�E6� %�
 x �� 
�� 
�
�
 �-
������ �� ������� xi �� 
�� �-
������ �� 
��
ith ������� k �� 
�� ������
��
 ������ ����
��
� ��	 ki �� 
�� ������ ����
��
 �� 
�� ith

������� &�� ������ ���
�� �� =��� G�E6 ���

x =
F

k
= x1 + x2 + x3 + x4 =

F

k1
+

F

k2
+

F

k3
+

F

k4
,

��	� ���
�����
�� 
�� ����
�
��� ���

∆f̄ = IσF = ∆f̄1 + ∆f̄2 + ∆f̄3 + ∆f̄4,

����� ∆f̄k ��������
� 
�� ��
��
��� 	�0����
��
 �
 
���� k�  �
���
�	 �� 
��� �������

���
��� �� �����
�
� 
�� �����
��� �� ���� ��������� �� 
�� ��

����� 
�����

F F

k
4

k
3

k
2

k
1

x
4

x
3

x
2

x
1

���� ����� � ������ �
������
� 
� �
�� �������

-���� �*:�* *������ �� �	�� ��� 
��� ���7����$ pk �� ��� �����	���� 	�� ��� ������

���� ��������$ I� 3� ��� '����	��0�� +���	 ���
���� ��� ��� 
��� ���7����$ ps
k �� ���

�	������ �� �	��

ps
k = pk + I

(
ωkσ

2
k

σF

)
8G�5H9

����

σF =

√√√√ l∑
k=1

ω2
kσ

2
k .
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/����� =��� %���� G�H5 �� ���� 
�� �������� �� .
����

σF =
σ2

F

σF
=

ω2
1σ

2
1 + ω2

2σ
2
2 + · · · + ω2

l σ
2
l

σF

=
(

ω2
1σ

2
1

σF

)
+
(

ω2
2σ

2
2

σF

)
+ · · · +

(
ω2

l σ
2
l

σF

)
��
�

σ2
F = ω2

1σ
2
1 + ω2

2σ
2
2 + · · · + ω2

l σ
2
l .

&�� 	�0����
��
 �� .
���� ��� �� ��������
�	 ��

∆f̄ = ∆f̄1 + ∆f̄2 + · · · + ∆f̄l, 8G�5I9

���
� 
�� ��
��
��� ��
����
� �����

∆f̄ = IσF = I
(

ω2
1σ

2
1

σF

)
+ I

(
ω2

2σ
2
2

σF

)
+ · · · + I

(
ω2

l σ
2
l

σF

)
. 8G�5D9

=��� %���� G�H5� �� ����

∆f̄k = f̄ s
k − f̄k = ω(ps

k − pk).

$�������� 8G�5I9 ��	 8G�5D9 
��	� 
�

∆f̄k = I
(

ω2
kσ

2
k

σF

)
= ω(ps

k − pk).

����� 
�� ���� ��������� �� 
�� ��
��
�	 �����
� ��

ps
k = pk + I

(
ωkσ

2
k

σF

)
.

	

��������� �*:"* 3� ��� +���	 ���
���� 	������
 p1 = p2 = · · · = pl� �� �	�� ���


��� ���7����$ ps
k �� ��� �������� �	�����

ps
k = pk +

( I√
l

)
σk.

/����� �� 
�� (�� �- ����
��� 
�� ���S����
� ��� ω1 = ω2 = · · · = ωl = 1� ��
�		�
���� 
�� ������
��� p1 = p2 = · · · = pl ����� σ1 = σ2 = · · · = σl� 1����	��� 
�
%���� G�HG ��	 p1 = p2 = · · · = pl� 
�� ���� ��������� ��

ps
k = pk + I

(
ωkσ

2
k

σF

)
= pk + I

⎛
⎝ σ2

k√
σ2

1 + σ2
2 · · · + σ2

l

⎞
⎠

= pk + I
⎛
⎝ σ2

k√
lσ2

k

⎞
⎠ = pk +

( I√
l

)
σk.

	




��6 # ����9��� )���� +��8
& 	���� '��
�9

&��� ����

��� ���������	� 
� 8G�CE9A ����
��
���� 
�� ������
��� p1 = · · · = pl �� $���
�

��� G�H7 ���
��� Var(σ) = 0� ����� �� �
���
�� 
��� 
�� ������
��� Var(σ) � E2[σ]
�� 8G�CE9� &�� ������
��� p1 = · · · = pl �� �-���
�	 
� ��
	 ��� 
�� (�� �- ����
��
��
 ��
 ���������
� ��� �
��� '�����
�:�	 (�� �- ����
���� &�� �����
 ����
��� ���
�-���
�� ��� 
�� �����.� ���������� N	����� �����������O LHG� C66M� ����� 
�� ����
������
 �������� �� ����� ��

��� 
�� ��
����� �� ���S����
 ωk �� 
�� .
���� ����
����
&��������� �
 ���	� 
� �����	�� ���� 
���� ��	���	��

� ��� 
�� '�����
�:�	 (�� �-
����
���� &��  ����� ��	�
 ��� ���� ��������� �������	 �� +�.��
��� G�CI �� ����	
�� � ����
� 
����� &� 
��� ���� 
���� ��
� ������
 ��� 
�� '�����
�:�	 (�� �- ����
���
�� �-���	 
�� ����
��
����  ����� ��	�
 
� 
�� ��

����� ��

��
���  ����� ��	�
�

��)�	�	�� �*:: +������ ����� ��� ����	��� ���� #��@����	�
,* ��� �	�%��

��	�� {G(t)} ��� 
��� ���7������� 	� 	�� ���� 	�� ������ 
$�

�� ��� �
�
� �� � ������� 
$ 	 (m+1)��	�$ ���
�� 	�� ��� ��
�� ���������� ��� ���
��

�� 	����� 1 	� ��� ������������
 ������ ��� ��	�� ��	�� �� �����
$ {0, 1, . . . ,M} ����

M = (m+1)l −1� 2�� i(k) 
� ��� kth ��
�� �� ��� (m+1)��	�$ ���
�� ������������


�� ��	�� i� � ��	�� i 
���� ��� 
��� ���7����$ 	� ����� k�

pk =
i(k)

m
.

�� ��� ��	������� �	��� �� {G(t)} ��

P def=

⎛
⎜⎜⎜⎜⎝

ρ00 ρ01 · · · ρ0M

ρ10 ρ11 · · · ���
���

���
���

ρM0 · · · · · · ρMM

⎞
⎟⎟⎟⎟⎠ ,

����� ρij ������� ��� ��	������� ���
	
����$ �� ��	�� i �� ��	�� j�

ρij
def= Pr{G(t + 1) = j | G(t) = i}.

4 	���� :�9A� &�� ��

����� ��
��- 	�����
��
�� � 
�����
��� ��
��- ��� m = 4 ��	
l = 4� &�� �
�
� i = 168 ��������
� � ���
����� ������ (1133)5� ��	���
��� 
��
 
����
�-��
 
���� �

�
� C �
 
���� C ��	 
���� 5� ��	 ��� �

�
� C �
 
���� E ��	 
���� G�

P =

0 1 · · · · · · · · · 624
0 = (0000)5
1 = (0001)5

���
168 = (1133)5

���
624 = (4444)5

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎝

0.26 0.08 · · · · · · · · · 0.03
0.16 0.07 · · · · · · · · · 0.01
���

���
���

0.08 0.01 0.15
���

���
���

0.02 0.01 · · · · · · · · · 0.33

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎠
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� �� 
��  ����� ����� ���������	��� 
�  �'1� �� ���
���
����� ��
���

! ����� �*:<* ��� 	 '� ����
 ��������� ���� ��������� ��������$ I� n��	���� +,�*�	��

���;�� ���	���� ���� ���	���� �	�� γm� 	�� �������� ���� 
����	���� 
	� γg = λ

m � ���

��	������� ���
	
����$ ρij �� ��� �	�%�� ��	�� {G(t)} ������������
 �� ��	� '� �� ���

'����	��0�� +���	 ���
��� ��

ρij =
l∏

k=1

λ∑
x=0

B(x;λ, p′k) · H(j(k) − x;m − λ, i(k),m),

����� i(k) ������� ��� kth ��
�� �� ��� (m+1)��	�$ ���
�� 	�����	��� ���� i 	�� ���


��� ���7����$

p′k = Ips
k

(⌈n

2

⌉
,
⌈n

2

⌉)
+ γm

(
1 − 2Ips

k

(⌈n

2

⌉
,
⌈n

2

⌉))
����

ps
k =

i(k)

m
+ I

⎛
⎝ ωki(k)

(
m − i(k)

)
m
√∑l

k=1 ω2
ki(k)

(
m − i(k)

)
⎞
⎠ .

/����� 1����	��� 
� +�.��
��� G�HH� 
�� ������ �� �

�
� 1 �
 
���� k ���������	��� 
�

�
�
� i �� i(k)� &��� 
�� 
�����
��� �������
�
� ρij ���
��� 
�� ���� ��������� pk = i(k)

m �
=��� %����� G�I� G�C5� ��	 G�HG� �� ��� 	����� 
�� ���� ��������� p′k �� 
�� �0������
�����	���	 �� 
�� 	�.��	 '1;

p′k = px
k + γm (1 − 2px

k) = Ips
k

(⌈n

2

⌉
,
⌈n

2

⌉)
+ γm

(
1 − 2Ips

k

(⌈n

2

⌉
,
⌈n

2

⌉))
��
�

ps
k = pk + I

⎛
⎝ ωkσ

2
k√∑l

k=1 ω2
kσ

2
k

⎞
⎠ =

i(k)

m
+ I

⎛
⎝ ωki(k)

(
m − i(k)

)
m
√∑l

k=1 ω2
ki(k)

(
m − i(k)

)
⎞
⎠ .

 �������� 
�� ����� �� &������ G�GE ����� 
�� 
�����
��� �������
�
� ��� 
���� k;

Pr{Gk(t + 1) = j(k) | Gk(t) = i(k)} =
λ∑

x=0

B(x;λ, p′k) · H(j(k) − x;m − λ, i(k),m).

&���� 
�� 
�����
��� �������
�
� �� 
�� ����� {G(t)} ��� �� ��
����	 ��

ρij =
l∏

k=1

Pr{Gk(t + 1) = j(k) | Gk(t) = i(k)}

=
l∏

k=1

λ∑
x=0

B(x;λ, p′k) · H(j(k) − x;m − λ, i(k),m).
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&��  ����� ����� {G(t)} �� � ��

��
��� �-
������ �� 
�� ����� {Gk(t)}� &�� �����
�����
� ��	 ����	���
� �� 
�� ����� {Gk(t)} 8��� "��
��� G�G�E9 �
�� ��
	 ��� 
�� �����
{G(t)}� 1����	��� 
� 
�� ���������
� �� {G(t)}� �� ��� ��� 8G�H9 
� �����
� �
�
�
	��
����
��� π(t) �
 ������
��� t�

! ����� �*:=* *������ �� �	�� ��� ��	�� ������
����� π(t) = (π1(t), . . . , πM (t)) ����

���������
 �� ��� '� ������ �� ������� :�9>� 3� ��� '����	��0�� +���	 ���
����

��� ��� ��	� f̄(t) 	�� ��� �	��	��� σ2
F (t) �� ������ 	� 
����	���� t� �� �	��

f̄(t) =
1
m

l∑
k=1

M∑
j=1

ωkj(k)πj(t)

σ2
F (t) =

1
m2

l∑
k=1

M∑
j=1

ω2
kj(k)(m − j(k))πj(t)

/����� &�� �
�
� 	��
����
��� π(t) ����� 
�� ���� ��������� �
 
���� k;

pk(t) =
M∑

j=0

(
j(k)

m

)
Pr{G(t) = j} =

1
m

M∑
j=0

j(k)πj(t).

B�������� 
� %���� G�H5� �� ���� 
�� ���� .
����

f̄(t) =
l∑

k=1

ωkpk(t) =
1
m

l∑
k=1

M∑
j=1

ωkj(k)πj(t),

��	 
�� �������� �� .
����

σ2
F (t) =

l∑
k=1

ω2
k

(
pk(t) − p2

k(t)
)

=
l∑

k=1

M∑
j=1

ω2
k

(
jk

m
−
(

jk

m

)2
)

πj(t)

=
1

m2

l∑
k=1

M∑
j=1

ω2
kj(k)(m − j(k))πj(t).

	

�
 �� ��
����
�� 
��
 
��  ����� ����� {G(t)} ��� � 
���� 
�����
��� ��
��-� ���� ���
� ���

 ����
�
��� ��:� ��	 � ���

 ����
�� ��:�� �������
�� 
�� 
�����
��� ��
��- P
��� (m + 1)2l �
����
�� 1 100���
 '�����
�:�	 (�� �- ����
�� ��
� ����
�
��� ��:�
m = 128� ��� ���
����� ��� � 
�����
��� ��
��- ������
��� �� 129200 ≈ 1.312 × 10422

�
����
�� "��� � ��
��- �� �� 	����	��� �� ������ ����� 
��
 �
 ������� ������
���

��� ���
���� �� 
���� ����
���� �� 
�� ��

����� 
�� ���
����� �� ��

 ���� ��� �� 
���
 ����� ��	�
 
� ���
�:� 
�� ����������� ��  �'1� �� 
�� '�����
�:�	 (�� �-
����
��� ���
���
�	 �� � ���

 
���
� l�
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!� .��
 ���
�:� 
�� ����������� ��  �'1� ����� (��"��� �� 
�� ������
����
� (���
 �- ����
��� ����� 
�� ���S����
� ωk ��� ������
����
 
� 
�� 
���� k�

��)�	�	�� �*;> +! � �������	����� 4����% ���6���,* ��� /���������	�� +���

�	 ���
��� �� �� ��� ��� 
��	�$ �����
 c = (c1, . . . , cl) ∈ {0, 1}l ��	� �	 ���0�� ���

��������
 �������� f : {0, 1}l → {0, 1, . . . , l(l+1)
2 }�

f(c) =
l∑

k=1

k · ck.

&�� ������
����
� (�� �- ����
�� �� � ������
 ���� 8ωk = k9 �� 
�� '�����
�:�	
(�� �- ����
��� ,���� &������ G�HF� �� ��� �����
� 
�� ���� ��	 
�� �������� ��
.
���� �� 
�� ������
����
� (�� �- ����
��;

f̄(t) =
1
m

l∑
k=1

M∑
j=1

k · j(k)πj(t) 8G�5F9

σ2
F (t) =

1
m2

l∑
k=1

M∑
j=1

k2 · j(k)(m − j(k))πj(t). 8G�E69

1� ��������
����	� 
�� ��:� �� 
�����
��� ��
��- ��� ��

��
� ���� ����������� ���
������� �-�����
��

� ��
� 
�� ��:� �� ����
��� ����
� 
�� ���������� 
���
� l �� 
��
'�����
�:�	 (�� �- ����
��� &��� �� ��
� ���	��
 
�����
���
 ���
���� �� 
�� 4���

������
����
� (�� �- ����
�� ��
� ����
�
��� ��:� m = 4� =�

����� +�.��
��� G�HH�

��  ����� ����� {G(t)} ��� � �
�
� ����� {0, 1, . . . , 54−1} ��	 �
� 
�����
��� ��
��-
�� � R

625×625 ������ ��
��-� &�� ��

��� ��  �'1� ��� �-�������
� ��

��� 
��
 ���	
�� "��
��� G�G�7� /��� �-�������
 ���
�	�� C666 ��	����	��
 �����
=����� G�EC �������� 
�� ���� .
���� �����
�	 �� 8G�5F9 ��	 8G�E69 ��
� 
�� ����

.
���� �������	 ���� C666 ����� &�� ����������� �� 
�� ���� .
���� �� �		�
����

�
	����
�	 �� =���� $�C ��	 $�5� =���
� 
���� .����� ���� 
��
 
�� 
�����
���
 ����

�
��� ������
��
 ��
� 
�� �-�������
�
 ����

�� �������� 
���� 	���������� ������� ����
��	 ���� �������
 �� 
�� ��
�
��� ��
� ���������� !� �

����
� 
�� 	���������� 
�

�� ���
�
��� �� 
�� ������
��� �� %���� G�H5; 
�� ���������� Cov(cu, cv) = 0 ���
��� 
�� 
��� u, v ∈ {1, . . . , l}� &��� ���
�
��� ��

 �0��
 
�� ��
���
��� �� �������� σ2

F

�� 8G�579 ��	 ���
��� 
�� �����
�
��� �� ���� ��������� ps
k �� 8G�5H9� "����	� 
����

.����� 	�����
��
� 
�� �����
 �� ��
�
��� �� 
�� ����������� ��  �'1� ����� (��
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